
59 
 

�����  4 

 

��	
��
	�
 

 

  ������	�
��
���
���������������	�����
�������������� ��� ���!����� 
�"
�#$���%�&�
�������'� �(���� ��)����	������������		
���
�� ���
�	����������������� 

 
4.1  ���������������	
��
	�
    

 

1.   �",�� -��
��
����%�(.�/���

!������0��!�1�2��0���������
���� ��� ���!�����
 
�"
�#$���%�&�3������'� �(���� 

2.   �",�������5����5�
����%�(.��1(
����

!������0��!�1�2��0�� %0������
���� ��� ���
!����� 
�"
�#$���%�&�3������'� �(���� !�����/��%/��3������'� �(���� 

3.   �",�������5����5�
����%�(.�&������
5��'�!�07/!�1"
8��%0��!����� 
�"
�#$&� 
3������'� �(�����1(
����

!������0��!�1�2��0�� 

 

4.2  ��
�
 ��
!���	
��"#�$ 

 

1.   �

!������0��!�1�2��0�����
����%�(.������
�
5����
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 /0��2����7%0�
5�������
5�
�/0��2�3%�&?0���,����,����
��
�  �-���
�����1($/0��2��-�&(0
7%0�
5/0��2����

�:'��1 ��$ !�1 ����:��5�-�:�� -�(�
5���
��
� /0���� 1 @ 4 7%0 3%�&?0 :���
&����
��
��,� 

1.   �0���1 
2.   �
��:�� 
3.   ����A���� (Mean) 
4.   ���
�����1($�
��!����
� (Anova) 
����1����%�����
�
5�����
�����1($/0��2� 7%0%
����7���� 

 
4.3  ��	
��"&��
�!��'� (� 

 

��'���

�����&�������	���
�������%�����-��
� 114 3����� ��������!��!55 �5:���-��
�
�
��(�% 114 3�����3%��-�(�%��'���

��������&?0&�������	�/��!���13����� ��� �

!��
����0�� 1 �� !�1�2��0�� 1 �� (���:�������!��!55 �5:��&(0�
5�

!������0���-��
� 114 
?'% !�1!��!55 �5:��&(0�
5�2��0���-��
� 114 ?'% �����!��!55 �5:��7%0�
5
!55 �5:���,� 89 3�����(!55 �5:������

!������0���-��
� 89 ?'% !�1�2��0���-��
� 
89 ?'% �
����� 178 ?'%) ����-�!55 �5:������%���&?0 (Try Out) �
5��'����1?������7��&?���'��
�

�����&����
��
���
������-��
� 25 3�����(!55 �5:������

!������0���-��
� 25 ?'% !�1
�2��0���-��
� 25 ?'% �
����� 50 ?'%)��&?0&����
�����1($/0��2�&����
��
���
�����%0
� �
�
!55 �5:�����&?0&����
�����1($/0��2��
�� ����-��
� 114 3����� (228 ?'%) 

��)��� 1 /0��2��
�
7������
�
5 :��1Q�" �
�5'���/���20��5!55 �5:��!�13�����
�'� �(���� ! %������
�����1($!�1 �'���7
0%
��������� 4.1 - 4.8 
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�
�
���� 4.1 

#�
)�)�'�$��*'
)&+�����('���,������
  

 
�"� �-��
� �0���1 

?�� 68 29.8 
(S�� 160 70.2 
�
� 228 100 

 
����������� 4.1 "5
�� �20��5!55 �5:���0���1 70.2 �����"�(S�� 

 
�
�
���� 4.2 

#�
)�)�'�$�������*��	
��
	�
�(���* 

 
�1%
5������	� 2� '% �-��
� �0���1 

��1:����	��T��� 6 0 0 
�
#�����	��T��� 3 4 1.8 
�
#�����	��T��� 6 , �
?. 14 6.1 
�
 . 36 15.8 
���SS���� 144 63.2 
���SS�3�(�,� 2��
�� 30 13.2 
�
� 228 100 

 
����������� 4.2 "5
�� �20��5!55 �5:���5������	��1%
5���SS���������� '%:��       

�0���1 63.2 !�17��"5�20��5!55 �5:������5������	�?
����1:����	��T��� 6 
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�
�
���� 4.3 

#�
)�)�'�$����
)�-
+ 

 
 :��Q�"&�3�����
�'� �(���� 

�-��
� �0���1 

����0�� / �

!������0�� 114 50 
�2��0�� 114 50 
�
� 228 100 

 
����������� 4.3 "5
�� �20��5!55 �5:����������0��/�

!������0�� �-��
� 114 �� 

��%�����0���1 50 !�1�����2��0�� 114 �� ��%�����0���1 50 
 

 

�
�
���� 4.4 

#�
)�)�'�$����
,!).� 

 
 :��Q�"&�3�����
�'� �(���� 

�-��
� �0���1 

�205��(�� / �20�
%��� 54 23.7 
"�
�����1%
5(

(�0���� 98 43 
"�
�����1%
5�W�5
����� 76 33.3 
�
� 228 100 

 
����������� 4.4 "5
�� �20��5!55 �5:�������205��(��/�20�
%��� �0���1 23.7 ����

"�
�����1%
5(

(�0���������� '%:���0���143 !�1����"�
�����1%
5�W�5
������0���1 33.3 
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�
�
���� 4.5 

#�
)�)�'�$�����&-�0��	"# 

 
��1�Q�#'����/�� 
3������'� �(���� 

�-��
� �0���1 

�'� �(������(�� 22 9.6 
�'� �(�������,���!������ 3 1.3 

�'� �(����7�0!�1����Q
)X$���
7�0 

2 0.9 

�'� �(�����Y��$������$!�1���,���
��,�� 

2 0.9 

�'� �(������1%�	!�1����Q
)X$
�����1%�	 

4 1.8 

�'� �(���� ���"��"$ 6 2.6 
�'� �(�������� 22 9.6 
�'� �(�����Z3������!�1
����Q
)X$ 

8 3.5 

�'� �(������� 4 1.8 
�'� �(����"�� ��� 30 13.2 
�'� �(��������Q
)X$3�(1 40 17.5 
�'� �(�������,����
���� 13 5.7 
�'� �(����7YY[� 4 1.8 
�'� �(�����,��\ 68 29.8 
�
� 228 100 
 

�����������  4.5 "5
�� ��'���

�����3������'� �(������1��5#'������1�Q�
�'� �(��������3�(1 40 3����� ��%�����0���117.5, �'� �(����"�� ��� 30 3����� ��%����
�0���1 13.2 !�1�'� �(�����,��\ �?�� ���,�����1%
5Q��&�50�� 68 3����� ��%�����0���1 29.8 
 



64 
 

�
�
���� 4.6 

#�
)�)�'�$��#�
)�)+)�	�
)2)3���
)����
!	��  

 
�-��
�"�
���� 

&�3������'� �(���� 
�-��
� �0���1 

7������ 50 �� 76 33.3 
50 ��/���7�!��7������ 300 
�� 

115 50.4 

���� 300 �� /���7� 37 16.2 
�
� 228 100 

 
����������� 4.6 "5
�� ��'���

�����3������'� �(�������� :����1��5���/��%��.� 

]������-��
�"�
����&�3������'� �(����7������ 50 �� �0���1 33.3  ����3������'� �(����
/��%���� 50 ��/���7�!��7������ 300 �� �0���1 50.4 !�1����3������'� �(����/��%&(S� 
]�����"�
��������
�� 300 �� �0���1 16.2 

 
�
�
���� 4.7 

#�
)�)�'�$��	
� ��56!
�
�*'
),���
)2)3���
)����
!	��  

 
��S(�%0��!�����(�,���)�

"�"��%0��!�����&� 
3������'� �(���� 

�-��
� �0���1 

�� 28 12.3 
7���� 200 87.7 
�
� 228 100 

 
����������� 4.7 "5
�� ��'���

�����3������'� �(��������S(�%0��!�����(�,���)�

"�"��%0��!�����&�3������'� �(���� �0���112.3  !�17������S(�%0��!�����(�,���)�
"�"��%0��!�����&�3������'� �(���� �0���187.7   
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�
�
���� 4.8 

#�
)�)�'�$�� �	
�#�*��
)3$�
$,��,�)�
)*'
),���
)�� +�)0����3���
)����
!	��  

 
����
%�-��3�5��!�1

!�����%0��!����� 
�"
�#$
&�3������'� �(���� 

�-��
� �0���1 

�� 116 50.9 
7���� 112 49.1 
�
� 228 100 

 
����������� 4.8 "5
�� ��'���

�����3������'� �(���� 114 3�����(����������5

!55 �5:�� 228 ?'%)������
%�-��3�5��!�1!�����%0��!����� 
�"
�#$ �0���1 50.9 
 

��)��� 2  ������	��
����%�(.������
�
5����
���� ��� ���!����� 
�"
�#$���%�&�3�����
�'� �(����/���

!������0��!�1�2��0��  

&�������	��
����%�(.������
�
5����
���� ��� ���!����� 
�"
�#$���%�&�3�����
�'� �(����/���

!������0��!�1�2��0��7%0��������	�
�����1($/0��2� %
��������� 4.11 - 4.34  

���
�����1($�����
�
5����
�&�%0������\ ���

�����/0��2��
����%�(.������
�
5����
����
 ��� ���!����� 
�"
�#$���%�&�3������'� �(����/���

!������0��!�1�2��0��%0�������%,��
!�1����0��/���

!������0�����7%0��������1�
���3%�&?03��!��� -���.��2� �?�� 
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�
�
���� 4.9 

����$.
��'� (����9*'#
	3��,	� ��
&�:#�(� 
 

  

Frequency Percent 

Cumulative 

Percent 

Valid �0�� 3 2.6 2.6 

������� 31 27.2 29.8 

��� 62 54.4 84.2 

������ '% 18 15.8 100.0 

 
Total 114 100.0  

 
����#�5��/0��2����7%0��������1�
���3%�&?03��!��� -���.��2� ����%
���� 
��� Frequency (�,�����
��:��  ! %�:���-��
���1?����

!������0�������5

!55 �5:������1%
5���� \ �?�� �1%
5�0�� ������
��:�� 3 (���:�� ���

!������0�� 3 3����� (��%
���� 2.6 ����$�]��$) �����5!55 �5:��&�(

/0�������������%,��!�1����0��&��
�������(��1 �
�
5(�0����!�1�
���
5��%?�5 ����
��(�% 114 3����� (100 ����$�]��$)  

 
%0�������%,��!�1����0��/���

!������0�� 

���������%,��!�1����0��&��
�������(��1 ��
5(�0����!�1�
���
5��%?�5 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0�� 3 2.6 2.6 

������� 31 27.2 29.8 

��� 62 54.4 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  
 

 
 



67 
 

���������5!�� �����
��
���(��1 �!�1�������
�� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0�� 2 1.8 1.8 

������� 15 13.2 14.9 

��� 56 49.1 64.0 

������ '% 41 36.0 100.0 

 �
� 114 100.0  

 

����35�
  ��-�� �� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0�� 2 1.8 1.8 

������� 32 28.1 29.8 

��� 50 43.9 73.7 

������ '% 30 26.3 100.0 

 �
� 114 100.0  
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�"������������5!��&(0��,����
'8��"���(�,�7%0�
5�-�!(������ 2�/���(�0�����
5��%?�5�"���/��� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 6 5.3 5.3 

�0�� 14 12.3 17.5 

������� 38 33.3 50.9 

��� 44 38.6 89.5 

������ '% 12 10.5 100.0 

 �
� 114 100.0  

 

 

�����1�
���/0��2��
����%�(.�����
�%0�������%,��!�1����0��/���

!������0��3%�&?0
3��!��� -���.��2�����%
���� 

 

 N Mean Std. Deviation 

A1 114 3.83 .715 

A2 114 4.19 .727 

A3 114 3.95 .785 

A4 114 3.37 1.007 

Valid N (listwise) 114   

 

����#�5��/0��2����7%0��������1�
���3%�&?03��!��� -���.��2� �,� ��� Mean (�,�
����A���� ! %�:���-��
���1?����

!������0�������5!55 �5:�����(

/0�����\/������
�
%0�������%,��!�1����0�� �?�� ���������%,��!�1����0��&��
�������(��1 ��
5(�0����!�1�
��
�
5��%?�5������A���� 3.83 (���:�� ���

!������0�������5!55 �5:��!�1&(0�
����%�(.�&�
(

/0����������A���� 3.83 ��� 5 (���! %��
����%�(.�&�!55 �5:���� 5 �1%
5 �,��0����� '% =1
�0�� = 2  ������� = 3  ��� = 4  ������ '% = 5) !�1�������5!55 �5:���������1���/0��2�
�1%
5���! %��
����%�(.���%��������5�����5�����k��7%0 0.715  
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�
�
���� 4.10 

�0"�
$�'� (����9*'#
		
���� ����3*$2<'3��,	� ��
&�:#�(� 
 

����
�%0�������%,��!�1����0�� �-��
� ����A���� ����5�����5�
����k�� 

1.���������%,��!�1����0��&�
�
�������(��1 ��
5(�0����!�1
�
���
5��%?�5 

114 3.83 .715 

2.���������5!��, �����
��
��
�(��1 �!�1�������
�� 

114 4.19 .727 

3.����35�
  ��-�� �� 114 3.95 .785 

4.�"������������5!��&(0��,����

'8��"���(�,�7%0�
5�-�!(������
 2�/���(�0�����
5��%?�5�"���/��� 

114 3.37 1.007 

�
� 114   

 
�
�
���� 4.11 

��
 �"*&!:)�5##�$*'
)&�")&*=�),���.
#'
�������,�))
$#'
� 

����
�%0�������%,��!�1����0�� ���
�5�����5�
����k�� 

����A����
(Mean) 

�1%
5������������� ��� ���
!����� 
�"
�#$ 

���������%,��!�1����0��&��
������
�(��1 � 

0.715 3.83 ��� 

���������5!��, �����
��
���(��1 � 0.727 4.19 ��� 
����35�
  ��-�� �� 0.785 3.95 ��� 
�"������������5!����,����
'8��"��� 1.007 3.37 ������� 

���
��A����  3.835 ��� 
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����������� 4.11 �

!������0���(.�
������
�%0�������%,��!�1����0�� ��� ���!�����
 
�"
�#$���%�&�3������'� �(����7%0&��1%
5��� (  = 3.835) 3%������������5!��, ���
��
��
���(��1 � (  = 4.19) ����35�
  ��-�� �� (  =3.95) ���������%,��!�1����0��&��
������
�(��1 � (  =3.83) ��2�&��1%
5��� !�1�"������������5!����,����
'8��"��� (  =3.37) ��2�&�
�1%
5�������   
 
%0�� 

 %����/���

!������0��     

 
�������?�"�(��1 ��
5 Q�
1���	k��� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 9 7.9 7.9 

�0�� 8 7.0 14.9 

������� 45 39.5 54.4 

��� 42 36.8 91.2 

������ '% 10 8.8 100.0 

 �
� 114 100.0  

 

����5���/�
� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 4 3.5 7.0 

������� 43 37.7 44.7 

��� 53 46.5 91.2 

������ '% 10 8.8 100.0 

 �
� 114 100.0  
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?'%Y��$�"�
���� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 2 1.8 3.5 

������� 43 37.7 41.2 

��� 59 51.8 93.0 

������ '% 8 7.0 100.0 

 �
� 114 100.0  

 
�: �
5- ��"�
���� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 22 19.3 19.3 

�0�� 8 7.0 26.3 

������� 40 35.1 61.4 

��� 42 36.8 98.2 

������ '% 2 1.8 100.0 

 �
� 114 100.0  
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5�����%0�����"
����
� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 36 31.6 31.6 

�0�� 22 19.3 50.9 

������� 40 35.1 86.0 

��� 14 12.3 98.2 

������ '% 2 1.8 100.0 

 �
� 114 100.0  

 

�����-��
� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 29 25.4 25.4 

�0�� 20 17.5 43.0 

������� 45 39.5 82.5 

��� 18 15.8 98.2 

������ '% 2 1.8 100.0 

 �
� 114 100.0  
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�
�����%Q
�&�����-���� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 8 7.0 8.8 

������� 33 28.9 37.7 

��� 49 43.0 80.7 

������ '% 22 19.3 100.0 

 �
� 114 100.0  

 
����'� -����������?�" 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 26 22.8 22.8 

�0�� 4 3.5 26.3 

������� 39 34.2 60.5 

��� 24 21.1 81.6 

������ '% 21 18.4 100.0 

 �
� 114 100.0  
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����'���1�
� 
��� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0�� 1 .9 .9 

������� 40 35.1 36.0 

��� 46 40.4 76.3 

������ '% 27 23.7 100.0 

 �
� 114 100.0  

 
������5��	��)���'�-��
� 2� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 10 8.8 8.8 

�0�� 11 9.6 18.4 

������� 39 34.2 52.6 

��� 36 31.6 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  

 
 
 
 
 
 
 
 
 



75 
 

����?�
���)�� ��?�
�� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 12 10.5 14.0 

������� 41 36.0 50.0 

��� 47 41.2 91.2 

������ '% 10 8.8 100.0 

 �
� 114 100.0  

 
�����(�� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 11 9.6 9.6 

�0�� 18 15.8 25.4 

������� 47 41.2 66.7 

��� 32 28.1 94.7 

������ '% 6 5.3 100.0 

 �
� 114 100.0  
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����?�
��(�,����� ��  
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 15 13.2 13.2 

�0�� 18 15.8 28.9 

������� 59 51.8 80.7 

��� 20 17.5 98.2 

������ '% 2 1.8 100.0 

 �
� 114 100.0  

 
��������
�	�"��5�� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 12 10.5 10.5 

�0�� 10 8.8 19.3 

������� 36 31.6 50.9 

��� 44 38.6 89.5 

������ '% 12 10.5 100.0 

 �
� 114 100.0  
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����?�
��(�,�����?��50�� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 27 23.7 23.7 

�0�� 25 21.9 45.6 

������� 44 38.6 84.2 

��� 14 12.3 96.5 

������ '% 4 3.5 100.0 

 �
� 114 100.0  

 
������1�
�?�
��/�'5
���(�' 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 21 18.4 18.4 

�0�� 10 8.8 27.2 

������� 45 39.5 66.7 

��� 26 22.8 89.5 

������ '% 12 10.5 100.0 

 �
� 114 100.0  
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�����20 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 20 17.5 17.5 

�0�� 24 21.1 38.6 

������� 48 42.1 80.7 

��� 18 15.8 96.5 

������ '% 4 3.5 100.0 

 �
� 114 100.0  

 
���

��2�&��������� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 6 5.3 5.3 

�0�� 14 12.3 17.5 

������� 46 40.4 57.9 

��� 34 29.8 87.7 

������ '% 14 12.3 100.0 

 �
� 114 100.0  
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�(�'%/�� ����l(��� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 4 3.5 5.3 

������� 25 21.9 27.2 

��� 58 50.9 78.1 

������ '% 25 21.9 100.0 

 �
� 114 100.0  

 
��������
������� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 6 5.3 5.3 

�0�� 4 3.5 8.8 

������� 69 60.5 69.3 

��� 23 20.2 89.5 

������ '% 12 10.5 100.0 

 �
� 114 100.0  

 
�����1�
���/0��2��
����%�(.�����
�%0�� 

 %����/���

!������0��3%�&?03��!���
 -���.��2�����%
���� 
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����
�%0�� 

 %���� �-��
� ����A���� ����5�����5�
����k�� 

1. �������?�"�(��1 ��
5    
     Q�
1���	k��� 

114 3.32 1.007 

2. ����5���/�
� 114 3.54 .843 

3. ?'%Y��$�"�
���� 114 3.61 .724 

4. �: �
5- ��"�
���� 114 2.95 1.135 

5. 5�����%0�����"
����
� 114 2.33 1.102 

6. �����-��
� 114 2.51 1.091 

7. �
�����%Q
�&����  
    �-���� 

114 3.71 .919 

8. ����'� -����������?�" 114 3.09 1.380 

9. ����'���1�
� 
��� 114 3.87 .782 

10. ������5��	��)���'   
      �-��
� 2� 

114 3.36 1.130 

11. ����?�
���)�� ��?�
�� 114 3.41 .920 

12. �����(�� 114 3.04 1.021 

13. ����?�
��(�,����� 
       ��  

114 2.79 .945 

14. ��������
�	�"��5�� 114 3.30 1.113 

15. ����?�
��(�,�����?��50�� 114 2.50 1.091 

16. ������1�
�?�
��/�'5
���(�' 114 2.98 1.219 

17. �����20 114 2.67 1.053 

18. ���

��2�&��������� 114 3.32 1.016 

19. 

�(�'%/�� ����l(��� 114 3.88 .853 

20. ��������
������� 114 3.27 .895 

�
� 114   
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�
�
���� 4.12 

��
 �"*&!:)�5##�$*'
)����*"	
�������,�))
$#'
�    
 

 
 

����
�%0�� 

 %���� ���
�5�����5�
����k�� 

����A����
(Mean) 

����������
 ��� ���!�����

 
�"
�#$ 
1. �������?�"�(��1 ��
5 Q�
1���	k��� 1.007 3.32 ������� 
2. ����5���/�
� 0.843 3.54 ��� 
3. ?'%Y��$�"�
���� 0.724 3.61 ��� 
4. �: �
5- ��"�
���� 1.135 2.95 ������� 
5. 5�����%0�����"
����
� 1.102 2.33 �0�� 
6. �����-��
� 1.091 2.51 ������� 
7. �
�����%Q
�&�����-���� 0.919 3.71 ��� 
8. ����'� -����������?�" 1.380 3.09 ������� 
9. ����'���1�
� 
��� 0.782 3.87 ��� 
10. ������5��	��)���'�-��
� 2� 1.130 3.36 ������� 
11. ����?�
���)�� ��?�
�� 0.920 3.41 ������� 
12. �����(�� 1.021 3.04 ������� 
13. ����?�
��(�,����� ��  0.945 2.79 ������� 
14. ��������
�	�"��5�� 1.113 3.30 ������� 
15. ����?�
��(�,�����?��50�� 1.091 2.5 �0�� 
16. ������1�
�?�
��/�'5
���(�' 1.219 2.98 ������� 
17. �����20 1.053 2.67 ������� 
18. ���

��2�&��������� 1.016 3.32 ������� 
19. 

�(�'%/�� ����l(��� 0.853 3.88 ��� 
20. ��������
������� 0.895 3.27 ������� 
���
��A����  3.1725 ������� 



82 
 

�����������4.12 �

!������0���(.�
������
�%0�� 

 %���� ����: ��� ���!�����
 
�"
�#$���%�&��'� �(����7%0&��1%
5������� ( x  = 3.172) !�1�
����%�(.�
������
�%0��

 

 %����/���

!������0�� �������&��1%
5��� ( x  = 3.88) �?�� 

�(�'%/�� ����l(���, 

����'���1�
� 
��� ( x  = 3.87), �
�����%Q
�&�����-���� ( x  = 3.71) ����
�%0�� 

 %����

 ����: ��� ���!����� 
�"
�#$���%�&��'� �(����7%0&��1%
5������� �?�� ������5��	��)���'
�-��
� 2� ( x  = 3.36) , �������?�"�(��1 ��
5 Q�
1���	k��� ( x  = 3.32) ����'� -����������

?�" ( x  = 3.09) !�1&��1%
5�0�� �?�� ����?�
��(�,�����?��50�� ( x  = 2.5) �����0� 

 
%0�������%��� ,�� ��/���

!������0�� 
 

(

(�0���� 
�����mn���%��
 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 16 14.0 15.8 

������� 54 47.4 63.2 

��� 38 33.3 96.5 

������ '% 4 3.5 100.0 

 �
� 114 100.0  
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�20&�05
��
55
S?� ����:]
�:��7%0 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 2 1.8 3.5 

������� 29 25.4 28.9 

��� 65 57.0 86.0 

������ '% 16 14.0 100.0 

 �
� 114 100.0  

 
��Z%���/0��2����������13�?�$����2��0��� �� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 3 2.6 4.4 

������� 35 30.7 35.1 

��� 50 43.9 78.9 

������ '% 24 21.1 100.0 

 �
� 114 100.0  
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���155 ,�� ����� ����:��%��� ,�� ��7%03%����!�1 1%
� �1(
����2��0��!�1����0�� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 6 5.3 7.0 

������� 32 28.1 35.1 

��� 58 50.9 86.0 

������ '% 16 14.0 100.0 

 �
� 114 100.0  

 
�����1�
���/0��2��
����%�(.�����
�%0�������%��� ,�� ��/���

!������0��3%�&?03��!���
 -���.��2�����%
���� 

 

����
�%0�������%��� ,�� �� �-��
� ����A���� ����5�����5�
����k�� 

1. (

(�0���� 
�����mn���%��
 114 3.23 .799 

2. �20&�05
��
55
S?� ����:]
�:��7%0 114 3.80 .766 

3. ��Z%���/0��2����������13�?�$����2��0��      
    � �� 

114 3.80 .864 

4. ���155 ,�� ����� ����:��%��� ,�� ��  
   7%03%����!�1 1%
� �1(
����2��0��  
    !�1����0�� 

114 3.70 .841 

�
� 114   

 
 
 
 



85 
 

�
�
���� 4.13 

��
 �"*&!:)�5##�$*'
)	
��"*�.��=���
�������,�))
$#'
� 

 
 

 
����������� 4.13 �

!������0���(.�
�� ����
�%0�������%��� ,�� ��/���

!������0�� 

 ����: ��� ���!����� 
�"
�#$���%�&�3������'� �(����7%0&��1%
5��� ( x  = 3.6325) 3%�&(0

�20&�05
��
55
S?� ����:]
�:��7%0, �����Z%���/0��2���� ������13�?�$����2��0��� ��, ��

�155 ,�� ����� ����:��%��� ,�� ��7%03%����!�1 1%
��1(
����2��0��!�1����0�� ( x  = 3.80) 

!�1 ����
�%0�������%��� ,�� ��/���

!������0��&��
�	)1���(

(�0���� 
�����mn���%��
 ��2�&�
�1%
5������� ( x  = 3.32) 

 
 
 
 
 
 
 
 
 

����
�%0�������%��� ,�� �� ���
�5�����5�
����k�� 

����A����
(Mean) 

���������� ��� ���
!����� 
�"
�#$ 

1. (

(�0���� 
�����mn���%��
 0.799 3.23 ������� 
2. �20&�05
��
55
S?� ����:]
�:��7%0 0.766 3.80 ��� 
3.��Z%���/0��2����������13�?�$����2��0��� �� 0.864 3.80 ��� 
4. ���155 ,�� ����� ����:��%��� ,�� ��7%0
3%����!�1 1%
� �1(
����2��0��!�1
����0�� 

0.841 3.70 ��� 

���
��A����  3.6325 ��� 
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%0������� �
���
�/��"�
����/���

!������0�� 
 

��Z%3��� &(0"�
����7%0�0���'�/$ 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 1 .9 2.6 

������� 30 26.3 28.9 

��� 63 55.3 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  

 
��Z%3��� &(0"�
����7%0! %��
����%�(.����������13�?�$���5��	
�����
���(��1 � 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0�� 4 3.5 3.5 

������� 23 20.2 23.7 

��� 69 60.5 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  
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"�
������ �
���
�&�����-���� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0�� 2 1.8 1.8 

������� 27 23.7 25.4 

��� 63 55.3 80.7 

������ '% 22 19.3 100.0 

 �
� 114 100.0  

 
��,������S(�/
%!�0�/���&�(��
����"�
����7%0�
5�
������#��������!�0���� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0�� 4 3.5 3.5 

������� 41 36.0 39.5 

��� 43 37.7 77.2 

������ '% 26 22.8 100.0 

 �
� 114 100.0  

 
 ����:!����
���20!��"�
����/�2��0�� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0�� 8 7.0 7.0 

������� 37 32.5 39.5 

��� 63 55.3 94.7 

������ '% 6 5.3 100.0 

 �
� 114 100.0  
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�
%���������
��
��1(
�������0��!�1�2��0�� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 16 14.0 17.5 

������� 39 34.2 51.8 

��� 45 39.5 91.2 

������ '% 10 8.8 100.0 

 �
� 114 100.0  

 
�����1�
���/0��2��
����%�(.�����
�%0������� �
���
�/���

!������0��3%�&?03��!���
 -���.��2�����%
���� 

 

����
�%0������� �
���
�/��"�
���� �-��
� ����A���� ����5�����5�
����k�� 

1. ��Z%3��� &(0"�
����7%0�0���'�/$ 114 3.82 .767 

2. ��Z%3��� &(0"�
����7%0! %��
����%�(.����  
    ������13�?�$���5��	
���� �
���(��1 � 

114 3.89 .701 

3. "�
������ �
���
�&�����-���� 114 3.92 .706 

4. ��,������S(�/
%!�0�/���&�(��
����"�
����  
    7%0�
5�
������#��������   !�0���� 

114 3.80 .833 

5.  ����:!����
���20!��"�
����/�2��0�� 114 3.59 .702 

6. �
%���������
��
��1(
�������0��!�1�2��0�� 114 3.36 .951 

�
� 114   
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�
�
���� 4.14 

��
 �"*&!:)�5##�$*'
)	
� ��.�)�.� ���+)�	�
)������,�))
$#'
� 

 

 

����������� 4.14 �

!������0���(.�
������
�%0������� �
���
�/��"�
���� ����:
 ��� ���!����� 
�"
�#$���%�&�3������'� �(����7%0&��1%
5��� ( x  = 3.73) 3%�&(0"�
������

 �
���
�&�����-���� ( x  = 3.92), ��Z%3��� &(0"�
����7%0! %��
����%�(.����������13�?�$

���5��	
�����
���(��1 � ( x  = 3.89) ��Z%3��� &(0"�
����7%0�0���'�/$ ( x  = 3.82) !�1

 ����:!����
���20!��"�
����/�2��0�� ( x  = 3.59) !�1����
%���������
��
��1(
�������0��!�1

�2��0�� ( x  = 3.36) ��2�&��1%
5������� 

 
 
 
 
 
 

����
�%0������� �
���
�/��"�
���� ���
�5�����5�
����k�� 

����A����
(Mean) 

����������
 ��� ���!�����

 
�"
�#$ 
1. ��Z%3��� &(0"�
����7%0�0���'�/$ 0.767 3.82 ��� 
2. ��Z%3��� &(0"�
����7%0! %��
����%�(.�  
    ���������13�?�$���5��	
�����
���(��1 � 

0.701 3.89 ��� 

3. "�
������ �
���
�&�����-���� 0.706 3.92 ��� 
4. ��,������S(�/
%!�0�/���&�(��
����"�
����  
    7%0�
5�
������#��������!�0���� 

0.833 3.80 ��� 

5.  ����:!����
���20!��"�
����/�2��0�� 0.702 3.59 ��� 
6. �
%���������
��
��1(
�������0��!�1  
    �2��0�� 

0.951 3.36 ������� 

���
��A����  3.73 ��� 
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%0�����mo��5��!�1"
8��5'�����/���

!������0�� 
 

�
%&(0"�
����7%0�
5���mo��5��!�1"
8������� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 12 10.5 12.3 

������� 35 30.7 43.0 

��� 49 43.0 86.0 

������ '% 16 14.0 100.0 

 �
� 114 100.0  

 
�
%&(0"�
����7%0�
5���mo��5��!�1"
8�����������������,��� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 12 10.5 12.3 

������� 31 27.2 39.5 

��� 53 46.5 86.0 

������ '% 16 14.0 100.0 

 �
� 114 100.0  
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&(03��� "�
����&�������	�(��
���20�"����������!(����
���20(�,� :�����	� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 12 10.5 14.0 

������� 44 38.6 52.6 

��� 44 38.6 91.2 

������ '% 10 8.8 100.0 

 �
� 114 100.0  

 
�����1�
���/0��2��
����%�(.�����
�%0�����mo��5��!�1"
8��5'�����/���

!������0��
3%�&?03��!��� -���.��2�����%
���� 

 

����
�%0�����mo��5��!�1"
8��5'����� �-��
� ����A���� ����5�����5�
����k�� 

1. �
%&(0"�
����7%0�
5���mo��5��!�1"
8��  
    ����� 

114 3.57 .921 

2. �
%&(0"�
����7%0�
5���mo��5��!�1"
8�� 
    ���������������,��� 

114 3.61 .918 

3. &(03��� "�
����&�������	�(��
���20 
    �"����������!(����
���20(�,� :�����	� 

114 3.39 .917 

�
� 114   
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�
�
���� 4.15 

��
 �"*&!:)�5##�$*'
)	
�>?	��� ,��+�@)
����
	�������,�))
$#'
� 

 
 

 
����������� 4.15 �

!������0���(.�
������
�%0�����mo��5��!�1"
8��5'�����

 ����: ��� ���!����� 
�"
�#$���%�&�3������'� �(����7%0&��1%
5��� ( x  = 3.532) �?�� ���

�
%&(0"�
����7%0�
5���mo��5��!�1"
8�����������������,��� ( x  = 3.61)  ����
%&(0"�
����

7%0�
5���mo��5��!�1"
8������� ( x  = 3.57) !�1���&(03��� "�
����&�������	�(�

�
���20�"����������!(����
���20(�,� :�����	� ( x  = 3.39) ��2�&��1%
5������� 

 
 
 
 
 
 
 
 
 

����
�%0�����mo��5��!�1"
8��
5'����� 

���
�5�����5�
����k�� 

����A����
(Mean) 

���������� ��� ���
!����� 
�"
�#$ 

1. �
%&(0"�
����7%0�
5���mo��5��!�1    
    "
8������� 

0.921 3.57 ��� 

2. �
%&(0"�
����7%0�
5���mo��5��!�1  
    "
8�����������������,��� 

0.918 3.61 ��� 

3. &(03��� "�
����&�������	�(� 
    �
���20�"����������!(����
���20(�,�  
     :�����	� 

0.917 3.39 ������� 

���
��A����  3.523 ��� 
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%0���
���0�
(�0�&� ����?�"/���

!������0�� 
 

 ��� ���&(0�20������
���20�
�� ����:7%0�0�
(�0�&�(�0���������� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 4 3.5 5.3 

������� 41 36.0 41.2 

��� 49 43.0 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  

 
�������1�������'��#��� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 6 5.3 5.3 

�0�� 4 3.5 8.8 

������� 34 29.8 38.6 

��� 50 43.9 82.5 

������ '% 20 17.5 100.0 

 �
� 114 100.0  
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��,����-�!(�����������!�1�
�� ����: 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 7 6.1 7.9 

������� 37 32.5 40.4 

��� 52 45.6 86.0 

������ '% 16 14.0 100.0 

 �
� 114 100.0  

 
&?0�155�')#���!�1�')Q�"/����� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 6 5.3 7.0 

������� 34 29.8 36.8 

��� 58 50.9 87.7 

������ '% 14 12.3 100.0 

 �
� 114 100.0  
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�����1�
���/0��2��
����%�(.�����
�%0���
���0�
(�0�&� ����?�"/���

!������0��3%�&?0
3��!��� -���.��2�����%
���� 

 

����
�%0���
���0�
(�0�&� ����?�" �-��
� ����A���� ����5�����5�
����k�� 

1. ��� ���&(0�20������
���20�
�� ����:7%0�0�
(�0� 
   &�(�0���������� 

114 3.68 .847 

2.�������1�������'��#��� 114 3.65 .986 

3.��,����-�!(�����������!�1�
�� ����: 114 3.64 .863 

4. &?0�155�')#���!�1�')Q�"/����� 114 3.67 .827 

�
� 114   

 
�
�
���� 4.16 

��
 �"*&!:)�5##�$*'
)��
 	'
�!)'
2)�
$�
<�+������,�))
$#'
� 

 

 
����������� 4.16 �

!������0���(.�
������
�%0���
���0�
(�0�&� ����?�" ����:

 ��� ���!����� 
�"
�#$���%�&�3������'� �(����7%0&��1%
5��� ( x  = 3.66) 3%� ����� ��� ���
&(0�20������
���20�
�� ����:7%0�0�
(�0�&�(�0���������� ( x  = 3.68)  ���&?0�155�')#���!�1

����
�%0���
���0�
(�0�&� ����?�" ���
�5�����5�
����k�� 

����A����
(Mean) 

����������
 ��� ���!�����

 
�"
�#$ 
1.  ��� ���&(0�20������
���20�
�� ����:7%0 
    �0�
(�0�&�(�0���������� 

0.847 3.68 ��� 

2. �������1�������'��#��� 0.986 3.65 ��� 
3. ��,����-�!(�����������!�1�
�� ����: 0.863 3.64 ��� 
4. &?0�155�')#���!�1�')Q�"/����� 0.827 3.67 ��� 
���
��A����  3.66 ��� 
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�')Q�"/����� ( x  = 3.67)  �������1�������'��#��� ( x  = 3.65) !�1�������,����-�!(������
�����!�1�
�� ����: ( x  = 3.64) 

 
����
�%0���
�����%Q
�&�3�����/���

!������0�� 
 

����0�(�0����&(05�����%0���
�����%Q
�������
���20�
�� ����: 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

������� 38 33.3 35.1 

��� 56 49.1 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  

 
������5��%0���
�����%Q
�&�3����� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 4 3.5 5.3 

������� 38 33.3 38.6 

��� 54 47.4 86.0 

������ '% 16 14.0 100.0 

 �
� 114 100.0  
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�
% ���!
%�0��&�3�����&(0:2� '/�
�	)1 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 2 1.8 3.5 

������� 44 38.6 42.1 

��� 40 35.1 77.2 

������ '% 26 22.8 100.0 

 �
� 114 100.0  

 
&?0��������
�����%Q
�&�����-���� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 2 1.8 3.5 

������� 34 29.8 33.3 

��� 50 43.9 77.2 

������ '% 26 22.8 100.0 

 �
� 114 100.0  
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�� -��
����&(05�����%0�����!"��$!�1"��5�� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 20 17.5 17.5 

�0�� 10 8.8 26.3 

������� 28 24.6 50.9 

��� 40 35.1 86.0 

������ '% 16 14.0 100.0 

 �
� 114 100.0  

 
�����1�
���/0��2��
����%�(.�����
�%0���
�����%Q
�&�3�����/���

!������0��3%�&?0
3��!��� -���.��2�����%
���� 

 

����
�%0���
�����%Q
�&�3����� �-��
� ����A���� ����5�����5�
����k�� 

1. ����0�(�0����&(05�����%0���
�����%Q
������ 
    �
���20�
�� ����: 

114 3.77 .776 

2. ������5��%0���
�����%Q
�&�3����� 114 3.68 .824 

3. �
% ���!
%�0��&�3�����&(0:2� '/�
�	)1 114 3.75 .888 

4. &?0��������
�����%Q
�&�����-���� 114 3.84 .858 

5. �� -��
����&(05�����%0�����!"��$!�1  
    "��5�� 

114 3.19 1.296 

�
� 114   
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�
�
���� 4.17 

��
 �"*&!:)�5##�$*'
)��
 ���*-�$2)3���
)������,�))
$#'
� 
 

 
����������� 4.17 �

!������0���(.�
������
�%0���
�����%Q
�&�3����� ����: ��� ���

!����� 
�"
�#$���%�&�3������'� �(����7%0&��1%
5��� ( x  = 3.646) �,����&?0��������
��

���%Q
�&�����-���� ( x  = 3.84)  �������0�(�0����&(05�����%0���
�����%Q
�������
���20

�
�� ����: ( x  = 3.77)  ����
% ���!
%�0��&�3�����&(0:2� '/�
�	)1 ( x  = 3.75)  �����

�5��%0���
�����%Q
�&�3����� ( x  = 3.68) !�1�� -��
����&(05�����%0�����!"��$!�1

"��5�� ( x  = 3.19) ��2�&��1%
5������� 

 
 
 
 
 
 
 
 
 
 

����
�%0���
�����%Q
�&�3����� ����5�����5�
����k�� 

����A����
(Mean) 

���������� ��� ���
!����� 
�"
�#$ 

1. ����0�(�0����&(05�����%0���
�����%Q
������ 
    �
���20�
�� ����: 

0.776 3.77 ��� 

2. ������5��%0���
�����%Q
�&�3����� 0.824 3.68 ��� 
3. �
% ���!
%�0��&�3�����&(0:2� '/�
�	)1 0.888 3.75 ��� 
4. &?0��������
�����%Q
�&�����-���� 0.858 3.84 ��� 
5. �� -��
����&(05�����%0�����!"��$!�1  
    "��5�� 

1.296 3.19 ������� 

���
��A����  3.646 ��� 
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%0���3�5��!�1!�����%0��!����� 
�"
�#$/���

!������0�� 
 

������-�(�%�3�5��!�1!�����%0��!����� 
�"
�#$����(��1 � ����l(���!����� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 7 6.1 9.6 

������� 47 41.2 50.9 

��� 48 42.1 93.0 

������ '% 8 7.0 100.0 

 �
� 114 100.0  

 
�
5�'�����W�5
������3�5��������������
%!�1 �0�� ���$&�������%� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 6 5.3 8.8 

������� 40 35.1 43.9 

��� 56 49.1 93.0 

������ '% 8 7.0 100.0 

 �
� 114 100.0  
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���155!�1(�
����5��(��!����� 
�"
�#$�������#��� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 8 7.0 10.5 

������� 40 35.1 45.6 

��� 52 45.6 91.2 

������ '% 10 8.8 100.0 

 �
� 114 100.0  

 
�3�5��!�1!�����%0��!����� 
�"
�#$ ����:�������!���7%0��� :�����)$!�1�
��
�(��1 � 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 10 8.8 12.3 

������� 44 38.6 50.9 

��� 48 42.1 93.0 

������ '% 8 7.0 100.0 

 �
� 114 100.0  
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�����1�
���/0��2��
����%�(.�����
�%0���3�5��!�1!�����%0��!����� 
�"
�#$/���

!��
����0��3%�&?03��!��� -���.��2�����%
���� 

 

����
�%0���3�5��!�1!����� 
%0��!����� 
�"
�#$ 

�-��
� ����A���� ����5�����5�
����k�� 

1. ������-�(�%�3�5��!�1!�����%0��!����� 
     
�"
�#$����(��1 � ����l(���!����� 

114 3.43 .852 

2. �
5�'�����W�5
������3�5��������������
%!�1  
     �0�� ���$&�������%� 

114 3.51 .844 

3. ���155!�1(�
����5��(��!����� 
�"
�#$�������  
    #��� 

114 3.49 .885 

4. �3�5��!�1!�����%0��!����� 
�"
�#$ ����:  
    �������!���7%0��� :�����)$!�1�
���(��1 � 

114 3.40 .880 

�
� 114   
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�
�
���� 4.18 

��
 �"*&!:)�5##�$*'
))3$�
$,��,�)�
)*'
),���
)�� +�)0�������,�))
$#'
� 

 

 

����������� 4.18 �

!������0���(.�
�� ����
�%0���3�5��!�1!�����%0��!�����
 
�"
�#$ ����: ��� ���!����� 
�"
�#$���%�&�3������'� �(����7%0&��1%
5������� ( x  = 

3.457) !�1�
����%�(.�����
�%0��!����� 
�"
�#$�������&��1%
5��� �,� ����
5�'�����W�5
��
����3�5��������������
%!�1 �0�� ���$&�������%� ( x  = 3.51)  �
�����
�%0���3�5��!�1

!�����%0��!����� 
�"
�#$���%�&�3������'� �(����&��1%
5������� �?�� ���155!�1
(�
����5��(��!������ 
�"
�#$�������#��� ( x  = 3.49) ������-�(�%�3�5��%0��!�����

 
�"
�#$����(��1 � ����l(���!����� ( x  = 3.43) !�1�3�5��!�1!�����%0��!�����

 
�"
�#$ ����:�������!���7%0��� :�����)$!�1�
���(��1 �( x  = 3.40) 

 
 
 

����
�%0���3�5��!�1!����� 
%0��!����� 
�"
�#$ 

���
�5�����5�
����k�� 

����A����
(Mean) 

���������� ��� ���
!����� 
�"
�#$ 

1. ������-�(�%�3�5��!�1!�����%0��  
    !����� 
�"
�#$����(��1 � ����l(���  
    !����� 

0.852 3.43 ������� 

2. �
5�'�����W�5
������3�5�������  
    �������
%!�1 �0�� ���$&�������%� 

0.844 3.51 ��� 

3. ���155!�1(�
����5��(��!�����  
     
�"
�#$�������#��� 

0.885 3.49 ������� 

4. �3�5��!�1!�����%0��!����� 
�"
�#$  
     ����:�������!���7%0��� :�����)$  
    !�1�
���(��1 � 

0.880 3.40 ������� 

���
��A����  3.4575 ������� 
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����
�%0���
�����/��mn������0��!�1�2��0�� /������0�� 
 

/�
%�
�����&��?���5 (������7��%�) /������0�� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 10 8.8 10.5 

������� 48 42.1 52.6 

��� 40 35.1 87.7 

������ '% 14 12.3 100.0 

 �
� 114 100.0  

 
����0�����
�����������%����!����� 
�"
�#$ 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 6 5.3 5.3 

�0�� 2 1.8 7.0 

������� 44 38.6 45.6 

��� 48 42.1 87.7 

������ '% 14 12.3 100.0 

 �
� 114 100.0  
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/�
%�
�����&��?���5 (������7��%�) /���2��0�� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 6 5.3 7.0 

������� 46 40.4 47.4 

��� 36 31.6 78.9 

������ '% 24 21.1 100.0 

 �
� 114 100.0  

 
�2��0�����
�����������%����!����� 
�"
�#$ 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0�� 8 7.0 7.0 

������� 48 42.1 49.1 

��� 36 31.6 80.7 

������ '% 22 19.3 100.0 

 �
� 114 100.0  
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��
5�
�����/��mn������0��!�1�2��0��&(0 �%��0���
� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0�� 4 3.5 3.5 

������� 46 40.4 43.9 

��� 36 31.6 75.4 

������ '% 28 24.6 100.0 

 �
� 114 100.0  

 
 
�����1�
���/0��2��
����%�(.�����
�%0���
�����/��mn������0��!�1�

!������0��3%�&?0
3��!��� -���.��2�����%
���� 

 

����
�%0���
�����/��mn������0��!�1 
�

!������0�� 

�-��
� ����A���� ����5�����5�
����k�� 

1. /�
%�
�����&��?���5 (������7��%�) /������0�� 114 3.47 .885 

2. ����0�����
�����������%����!�����  
�"
�#$ 114 3.54 .923 

3. /�
%�
�����&��?���5 (������7��%�) /���2��0�� 114 3.65 .931 

4. �2��0�����
�����������%����!����� 
�"
�#$ 114 3.63 .875 

5. ��
5�
�����/��mn������0��!�1�2��0��  
    &(0 �%��0���
� 

114 3.77 .863 

�
� 114   
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�
�
���� 4.19 

��
 �"*&!:)�5##�$*'
)���)��"���>A
$)
$#'
�,���(	#'
� ������,�))
$#'
� 
 

 
����������� 4.19 �

!������0���(.�
������
�%0���
�����/��mn������0��!�1�2��0��

 ����: ��� ���!����� 
�"
�#$���%�&�3������'� �(����7%0&��1%
5��� ( x  = 3.612) 3%����

��
5�
�����/��mn������0��!�1�2��0��&(0 �%��0���
� ( x  = 3.77) ���/�
%�
�����&��?���5 

(������7��%�) /���2��0�� ( x  = 3.65) �2��0�����
��������%����!������ 
�"
�#$ ( x  = 3.63) ����0����

�
��������%����!����� 
�"
�#$ ( x  = 3.54)  �
�����
�%0���
�����/��mn������0��!�1�2��0��

 ����: ��� ���!����� 
�"
�#$���%�&�3������'� �(����&��1%
5������� �,� ���/�
%
�
�����/��mn������0��!�1�2��0�� ( x  = 3.47) 

  
 

 
 
 
 

����
�%0���
�����/��mn������0��!�1�2��0�� ���
�5�����5�
����k�� 

����A����
(Mean) 

���������� ��� ���
!����� 
�"
�#$ 

1. /�
%�
�����&��?���5 (������7��%�) /��  
    ����0�� 

0.885 3.47 ������� 

2. ����0�����
�����������%����!�����  
     
�"
�#$ 

0.923 3.54 ��� 

3. /�
%�
�����&��?���5 (������7��%�) /��  
    �2��0�� 

0.931 3.65 ��� 

4. �2��0�����
�����������%����!����� 
�"
�#$ 0.875 3.63 ��� 
5. ��
5�
�����/��mn������0��!�1�2��0��&(0  
     �%��0���
� 

0.863 3.77 ��� 

���
��A����   ��� 
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����
�%0�������%,��!�1����0��/���2��0�� 
 

���������%,��!�1����0��&��
�������(��1 ��
5(�0����!�1�
���
5��%?�5 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0�� 6 5.3 5.3 

������� 50 43.9 49.1 

��� 40 35.1 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  

 
���������5!�� �����
��
���(��1 �!�1�������
�� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 ������� 23 20.2 20.2 

��� 62 54.4 74.6 

������ '% 29 25.4 100.0 

 �
� 114 100.0  
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����35�
  ��-�� �� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 2 1.8 3.5 

������� 37 32.5 36.0 

��� 55 48.2 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  

 
�"������������5!��&(0��,����
'8��"���(�,�7%0�
5�-�!(������ 2�/���(�0�����
5��%?�5�"���/��� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 6 5.3 5.3 

�0�� 18 15.8 21.1 

������� 38 33.3 54.4 

��� 42 36.8 91.2 

������ '% 10 8.8 100.0 

 �
� 114 100.0  

 
 
 
 
 
 
 
 



110 
 

�����1�
���/0��2��
����%�(.�����
�%0�������%,��!�1����0��/���2��0��3%�&?03��!���
 -���.��2�����%
���� 

 

����
�%0�������%,��!�1����0�� �-��
� ����A���� ����5�����5�
����k�� 

1. ���������%,��!�1����0��&��
�������(��1 ��
5 
    (�0����!�1�
���
5��%?�5 

114 3.61 .815 

2. ���������5!��, �����
��
���(��1 �!�1���  
    ����
�� 

114 4.05 .676 

3. ����35�
  ��-�� �� 114 3.75 .807 

4. �"������������5!��&(0��,����
'8��"���(�,�7%0�
5  
    �-�!(������ 2�/���(�0�����
5��%?�5�"���/��� 

114 3.28 1.009 

�
� 114   
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�
�
���� 4.20 

��
 �"*&!:)�5##�$*'
)&�")&*=�),���.
#'
�����(	#'
� 
 

 
����������� 4.20 �2��0���(.�
������
�%0�������%,��!�1����0�� ����: ��� ���!�����

 
�"
�#$���%�&�3������'� �(����7%0&��1%
5���( x  = 3.672) �,� ������������5!��, ���

��
��
���(��1 �!�1�������
�� ( x  = 4.05)  �������35�
  ��-�� �� ( x  = 3.75) �������

�����%,��!�1����0��&��
�������(��1 ��
5(�0����!�1�
���
5��%?�5 ( x  = 3.61) !�1����"�������

�����5!��&(0��,����
'8��"���(�,�7%0�
5�-�!(������ 2�/��� (�0�����
5��%?�5�"���/��� ( x  = 3.28) ��2�&�

�1%
5������� 
 
 
 
 
 
 
 
 

����
�%0�������%,��!�1����0�� ���
�5�����5�
����k�� 

����A����
(Mean) 

���������� ��� ���
!����� 
�"
�#$ 

1. ���������%,��!�1����0��&��
�������(��1 �  
    �
5(�0����!�1�
���
5��%?�5 

0.815 3.61 ��� 

2. ���������5!�� �����
��
���(��1 �!�1 
    �������
�� 

0.676 4.05 ��� 

3. ����35�
  ��-�� �� 0.807 3.75 ��� 
4. �"������������5!��&(0��,����
'8��"���(�,�  
    7%0�
5�-�!(������ 2�/���(�0�����
5��%?�5  
    �"���/��� 

1.009 3.28 ������� 

���
��A����  3.6725 ��� 
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����
�%0�� 

 %����/���2��0�� 
 

�������?�"�(��1 ��
5 Q�
1���	k��� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 9 7.9 7.9 

�0�� 16 14.0 21.9 

������� 47 41.2 63.2 

��� 24 21.1 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  

 
����5���/�
� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 14 12.3 15.8 

������� 36 31.6 47.4 

��� 52 45.6 93.0 

������ '% 8 7.0 100.0 

 �
� 114 100.0  

 
 
 
 
 
 



113 
 

?'%Y��$�"�
���� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0�� 8 7.0 7.0 

������� 38 33.3 40.4 

��� 52 45.6 86.0 

������ '% 16 14.0 100.0 

 �
� 114 100.0  

 
�: �
5- ��"�
���� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 15 13.2 13.2 

�0�� 16 14.0 27.2 

������� 45 39.5 66.7 

��� 30 26.3 93.0 

������ '% 8 7.0 100.0 

 �
� 114 100.0  
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5�����%0�����"
����
� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 35 30.7 30.7 

�0�� 22 19.3 50.0 

������� 31 27.2 77.2 

��� 18 15.8 93.0 

������ '% 8 7.0 100.0 

 �
� 114 100.0  

 
�����-��
� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 45 39.5 39.5 

�0�� 14 12.3 51.8 

������� 29 25.4 77.2 

��� 20 17.5 94.7 

������ '% 6 5.3 100.0 

 �
� 114 100.0  
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�
�����%Q
�&�����-���� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 8 7.0 10.5 

������� 26 22.8 33.3 

��� 55 48.2 81.6 

������ '% 21 18.4 100.0 

 �
� 114 100.0  

 
����'� -����������?�" 

    

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 26 22.8 22.8 

�0�� 6 5.3 28.1 

������� 26 22.8 50.9 

��� 37 32.5 83.3 

������ '% 19 16.7 100.0 

 �
� 114 100.0  
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����'���1�
� 
��� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

������� 30 26.3 28.1 

��� 52 45.6 73.7 

������ '% 30 26.3 100.0 

 �
� 114 100.0  

 
     ������5��	��)���'�-��
� 2� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 16 14.0 14.0 

�0�� 8 7.0 21.1 

������� 38 33.3 54.4 

��� 34 29.8 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  
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����?�
���)�� ��?�
�� 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 10 8.8 8.8 

�0�� 14 12.3 21.1 

������� 36 31.6 52.6 

��� 38 33.3 86.0 

������ '% 16 14.0 100.0 

 �
� 114 100.0  

 
�����(�� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 20 17.5 17.5 

�0�� 21 18.4 36.0 

������� 29 25.4 61.4 

��� 32 28.1 89.5 

������ '% 12 10.5 100.0 

 �
� 114 100.0  
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����?�
��(�,����� ��  

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 26 22.8 22.8 

�0�� 26 22.8 45.6 

������� 30 26.3 71.9 

��� 22 19.3 91.2 

������ '% 10 8.8 100.0 

 �
� 114 100.0  

 
��������
�	�"��5�� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 11 9.6 9.6 

�0�� 8 7.0 16.7 

������� 35 30.7 47.4 

��� 46 40.4 87.7 

������ '% 14 12.3 100.0 

 �
� 114 100.0  
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����?�
��(�,�����?��50�� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 44 38.6 38.6 

�0�� 16 14.0 52.6 

������� 26 22.8 75.4 

��� 18 15.8 91.2 

������ '% 10 8.8 100.0 

 �
� 114 100.0  

 
������1�
�?�
��/�'5
���(�' 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 26 22.8 22.8 

�0�� 5 4.4 27.2 

������� 33 28.9 56.1 

��� 38 33.3 89.5 

������ '% 12 10.5 100.0 

 �
� 114 100.0  
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�����20 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 36 31.6 31.6 

�0�� 8 7.0 38.6 

������� 42 36.8 75.4 

��� 18 15.8 91.2 

������ '% 10 8.8 100.0 

 �
� 114 100.0  

 
���

��2�&��������� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 18 15.8 15.8 

�0�� 12 10.5 26.3 

������� 45 39.5 65.8 

��� 28 24.6 90.4 

������ '% 11 9.6 100.0 

 �
� 114 100.0  
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�(�'%/�� ����l(��� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 6 5.3 7.0 

������� 33 28.9 36.0 

��� 47 41.2 77.2 

������ '% 26 22.8 100.0 

 �
� 114 100.0  

 
��������
������� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 13 11.4 11.4 

�0�� 12 10.5 21.9 

������� 47 41.2 63.2 

��� 30 26.3 89.5 

������ '% 12 10.5 100.0 

 �
� 114 100.0  
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�����1�
���/0��2��
����%�(.�����
�%0�� 

 %����/���2��0��3%�&?03��!��� -���.��2�����
%
���� 

 

����
�%0�� 

 %���� �-��
� ����A���� ����5�����5�
����k�� 

1. �������?�"�(��1 ��
5 Q�
1���	k��� 114 3.23 1.121 

2. ����5���/�
� 114 3.40 .919 

3. ?'%Y��$�"�
���� 114 3.67 .806 

4. �: �
5- ��"�
���� 114 3.00 1.105 

5. 5�����%0�����"
����
� 114 2.49 1.271 

6. �����-��
� 114 2.37 1.305 

7. �
�����%Q
�&�����-���� 114 3.71 .966 

8. ����'� -����������?�" 114 3.15 1.397 

9. ����'���1�
� 
��� 114 3.95 .829 

10. ������5��	��)���'�-��
� 2� 114 3.26 1.227 

11. ����?�
���)�� ��?�
�� 114 3.32 1.131 

12. �����(�� 114 2.96 1.265 

13. ����?�
��(�,����� ��  114 2.68 1.264 

14. ��������
�	�"��5�� 114 3.39 1.101 

15. ����?�
��(�,�����?��50�� 114 2.42 1.369 

16. ������1�
�?�
��/�'5
���(�' 114 3.04 1.313 

17. �����20 114 2.63 1.312 

18. ���

��2�&��������� 114 3.02 1.175 

19. 

�(�'%/�� ����l(��� 114 3.78 .919 

20. ��������
������� 114 3.14 1.112 

�
� 114   
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�
�
���� 4.21 

��
 �"*&!:)�5##�$*'
)����*"	
�����(	#'
� 

 
 

 

����
�%0�� 

 %���� ���
�5�����5�
����k�� 

����A����
(Mean) 

���������� ��� ���
!����� 
�"
�#$ 

1. �������?�"�(��1 ��
5 Q�
1���	k��� 1.121 3.23 ������� 
2. ����5���/�
� 0.919 3.40 ������� 
3. ?'%Y��$�"�
���� 0.806 3.67 ��� 
4. �: �
5- ��"�
���� 1.105 3.00 ������� 
5. 5�����%0�����"
����
� 1.271 2.49 �0�� 
6. �����-��
� 1.305 2.37 �0�� 
7. �
�����%Q
�&�����-���� 0.966 3.71 ��� 
8. ����'� -����������?�" 1.397 3.15 ������� 
9. ����'���1�
� 
��� 0.829 3.95 ��� 
10. ������5��	��)���'�-��
� 2� 1.227 3.26 ������� 
11. ����?�
���)�� ��?�
�� 1.131 3.32 ������� 
12. �����(�� 1.265 2.96 �0�� 
13. ����?�
��(�,����� ��  1.264 2.68 �0�� 
14. ��������
�	�"��5�� 1.101 3.39 ������� 
15. ����?�
��(�,�����?��50�� 1.369 2.42 �0�� 
16. ������1�
�?�
��/�'5
���(�' 1.313 3.04 ������� 
17. �����20 1.312 2.63 ������� 
18. ���

��2�&��������� 1.175 3.02 ������� 
19. 

�(�'%/�� ����l(��� 0.919 3.78 ��� 
20. ��������
������� 1.112 3.14 ������� 
���
��A����  3.1305 ������� 
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����������� 4.21 �2��0���(.�
������
�%0�� 

 %���� ����: ��� ���!����� 
�"
�#$���%�&�
3������'� �(����7%0&��1%
5������� ( x  = 3.130) !�1�
����%�(.�
������
�%0�� 

 %����

/���2��0���������&��1%
5��� �,� ���������'���1�
� 
��� ( x  = 3.95) �����

�(�'%/�����

�l(��� ( x  = 3.78) �
�����%Q
�&�����-���� ( x  = 3.71) ��?'%Y��$�"�
���� ( x  = 3.67) 

����
�%0�� 

 %���� ����: ��� ���!����� 
�"
�#$���%�&��'� �(����7%0&��1%
5������� �?�� 
����������5���/�
� ( x  = 3.40) ����������
�	�"��5�� ( x  = 3.39) ������?�
��(�,���)����� ��?�
��    

( x  = 3.32) !�1&��1%
5�0�� �?�� ����?�
��(�,�����?��50�� ( x  = 2.42) !�1�����-��
� ( x  = 2.37) 

�����0� 
 
%0�������%��� ,�� ��/���2��0�� 

(

(�0���� 
�����mn���%��
 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 16 14.0 17.5 

������� 56 49.1 66.7 

��� 32 28.1 94.7 

������ '% 6 5.3 100.0 

 �
� 114 100.0  

 
�20&�05
��
55
S?� ����:]
�:��7%0 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 ������� 52 45.6 45.6 

��� 44 38.6 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  
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��Z%���/0��2����������13�?�$����2��0��� �� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 6 5.3 7.0 

������� 52 45.6 52.6 

��� 34 29.8 82.5 

������ '% 20 17.5 100.0 

 �
� 114 100.0  

 
���155 ,�� ����� ����:��%��� ,�� ��7%03%����!�1 1%
� �1(
����2��0��!�1����0�� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 3 2.6 4.4 

������� 45 39.5 43.9 

��� 48 42.1 86.0 

������ '% 16 14.0 100.0 

 �
� 114 100.0  
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�����1�
���/0��2��
����%�(.�����
�%0�������%��� ,�� ��/���2��0��3%�&?03��!��� -���.��2�
����%
���� 

 

����
�%0�������%��� ,�� �� �-��
� ����A���� ����5�����5�
����k�� 

1. (

(�0���� 
�����mn���%��
 114 3.18 .865 

2. �20&�05
��
55
S?� ����:]
�:��7%0 114 3.70 .728 

3. ��Z%���/0��2����������13�?�$����2��0��� �� 114 3.56 .903 

4. ���155 ,�� ����� ����:��%��� ,�� ��7%0 
    3%����!�1 1%
� �1(
����2��0��!�1����0�� 

114 3.64 .821 

�
� 114   

 
�
�
���� 4.22 

��
 �"*&!:)�5##�$*'
)	
��"*�.��=���
�����(	#'
� 
 

 
����������� 4.22 �2��0���(.�
������
�%0�������%��� ,�� �� ����: ��� ���!����� 
�"
�#$���

%�&�3������'� �(����7%0&��1%
5��� ( x  = 3.52) �,� ���&(0�20&�05
��
55
S?� ����:]
�:��

����
�%0�������%��� ,�� �� ���
�5�����5�
����k�� 

����A����
(Mean) 

���������� ��� ���
!����� 
�"
�#$ 

1. (

(�0���� 
�����mn���%��
 0.865 3.18 ������� 
2. �20&�05
��
55
S?� ����:]
�:��7%0 0.728 3.70 ��� 
3. ��Z%���/0��2����������13�?�$����2��0��� �� 0.903 3.56 ��� 
4. ���155 ,�� ����� ����:��%��� ,�� ��7%0  
   3%����!�1 1%
� �1(
����2��0��!�1  
    ����0�� 

0.821 3.64 ��� 

���
��A����  3.52 ��� 
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7%0 ( x  = 3.70) ������155 ,�� ����� ����:��%��� ,�� ��7%03%����!�1 1%
��1(
����2��0��

!�1����0�� ( x  = 3.64) �������Z%���/0��2����������13�?�$����2��0��� �� ( x  = 3.56) !�1����
�

%0�������%��� ,�� �� ����: ��� ���!����� 
�"
�#$&��1%
5��������,� (

(�0���� 
�����
mn���%��
 ( x  = 3.18) 

 
%0������� �
���
�/��"�
����/���2��0�� 
 

��Z%3��� &(0"�
����7%0�0���'�/$ 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 6 5.3 8.8 

������� 42 36.8 45.6 

��� 50 43.9 89.5 

������ '% 12 10.5 100.0 

 �
� 114 100.0  

 
��Z%3��� &(0"�
����7%0! %��
����%�(.����������13�?�$���5��	
�����
���(��1 � 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 4 3.5 7.0 

������� 46 40.4 47.4 

��� 46 40.4 87.7 

������ '% 14 12.3 100.0 

 �
� 114 100.0  
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"�
������ �
���
�&�����-���� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0�� 8 7.0 7.0 

������� 31 27.2 34.2 

��� 65 57.0 91.2 

������ '% 10 8.8 100.0 

 �
� 114 100.0  

 
��,������S(�/
%!�0�/���&�(��
����"�
����7%0�
5�
������#��������!�0���� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 12 10.5 12.3 

������� 44 38.6 50.9 

��� 38 33.3 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  
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 ����:!����
���20!��"�
����/�2��0�� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 19 16.7 20.2 

������� 43 37.7 57.9 

��� 36 31.6 89.5 

������ '% 12 10.5 100.0 

 �
� 114 100.0  

 
�
%���������
��
��1(
�������0��!�1�2��0�� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 21 18.4 21.9 

������� 39 34.2 56.1 

��� 32 28.1 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  

 
 
 
 
 
 
 



130 
 

�����1�
���/0��2��
����%�(.�����
�%0������� �
���
�/���2��0��3%�&?03��!��� -���.��2�
����%
���� 

 

����
�%0������� �
���
� �-��
� ����A���� ����5�����5�
����k�� 

1. ��Z%3��� &(0"�
����7%0�0���'�/$ 114 3.53 .885 

2. ��Z%3��� &(0"�
����7%0! %��
��
��%�(.����������13�?�$���5��	
����
�
���(��1 � 

114 3.54 .884 

3. "�
������ �
���
�&�����-���� 114 3.68 .735 

4. ��,������S(�/
%!�0�/���&�(��
����
"�
����7%0�
5�
������#��������
!�0���� 

114 3.51 .943 

5.  ����:!����
���20!��"�
����/�2��0�� 114 3.29 .984 

6. �
%���������
��
��1(
�������0��
!�1�2��0�� 

114 3.34 1.063 

�
� 114   
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�
�
���� 4.23 

��
 �"*&!:)�5##�$*'
)	
� ��.�)�.� ���+)�	�
)����(	#'
� 
 

 
����������� 4.23 �2��0���(.�
������
�%0������� �
���
�/��"�
���� ����: ��� ���

!����� 
�"
�#$���%�&�3������'� �(����7%0&��1%
5������� ( x  = 3.481) !�1�
����%�(.�

����
�%0������� �
���
�/��"�
����/���

!���2��0���������&��1%
5��� �,� "�
������ �
�
��
�&�����-���� ( x  = 3.68) �������Z%3��� &(0"�
����7%0! %��
����%�(.����������13�?�$

���5��	
�����
���(��1 � ( x  = 3.54) �������Z%3��� &(0"�
�����0���'�/$ ( x  = 3.53) !�1

��,������S(�/
%!�0�&�(��
����"�
����7%0�
5�
������#��������!�0���� ( x  = 3.51) 
 

 

 

 

 

 

 

����
�%0������� �
���
�/��"�
���� ���
�5�����5�
����k�� 

����A����
(Mean) 

����������
 ��� ���!�����

 
�"
�#$ 
1. ��Z%3��� &(0"�
����7%0�0���'�/$ 0.885 3.53 ��� 
2. ��Z%3��� &(0"�
����7%0! %��
����%�(.����  
    ������13�?�$���5��	
�����
���(��1 � 

0.884 3.54 ��� 

3. "�
������ �
���
�&�����-���� 0.735 3.68 ��� 
4. ��,������S(�/
%!�0�/���&�(��
����"�
����  
    7%0�
5�
������#��������!�0���� 

0.943 3.51 ��� 

5.  ����:!����
���20!��"�
����/�2��0�� 0.984 3.29 ������� 
6. �
%���������
��
��1(
�������0��!�1�2��0�� 1.063 3.34 ������� 
���
��A����  3.4817 ������� 
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%0�����mo��5��!�1"
8��5'�����/���2��0�� 
 

�
%&(0"�
����7%0�
5���mo��5��!�1"
8������� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 5 4.4 7.9 

������� 42 36.8 44.7 

��� 49 43.0 87.7 

������ '% 14 12.3 100.0 

 �
� 114 100.0  

 
�
%&(0"�
����7%0�
5���mo��5��!�1"
8�����������������,��� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 3 2.6 2.6 

�0�� 10 8.8 11.4 

������� 37 32.5 43.9 

��� 52 45.6 89.5 

������ '% 12 10.5 100.0 

 �
� 114 100.0  
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&(03��� "�
����&�������	�(��
���20�"����������!(����
���20(�,� :�����	� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 10 8.8 8.8 

�0�� 4 3.5 12.3 

������� 48 42.1 54.4 

��� 40 35.1 89.5 

������ '% 12 10.5 100.0 

 �
� 114 100.0  

 
�����1�
���/0��2��
����%�(.�����
�%0�����mo��5��!�1"
8��5'�����/���2��0��3%�&?0
3��!��� -���.��2�����%
���� 

 

����
�%0�����mo��5��!�1"
8��5'����� �-��
� ����A���� ����5�����5�
����k�� 

1. �
%&(0"�
����7%0�
5���mo��5��!�1"
8��  
    ����� 

114 3.56 .893 

2. �
%&(0"�
����7%0�
5���mo��5��!�1"
8��  
    ���������������,��� 

114 3.53 .895 

3. &(03��� "�
����&�������	�(��
���20  
     �"����������!(����
���20(�,� :�����	� 

114 3.35 1.022 

�
� 114   
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�
�
���� 4.24 

��
 �"*&!:)�5##�$*'
)	
�>?	��� ,��+�@)
����
	�����(	#'
� 
 

 

 
����������� 4.24 �2��0���(.�
������
�%0�����mo��5��!�1"
8��5'����� ����: ��� ���

!����� 
�"
�#$���%�&��1%
5�������( x  = 3.48) !�1�
����%�(.�����
�%0�����mo��5��!�1

"
8��5'�����/���

!���2��0���������&��1%
5��� �,� ����
%&(0"�
����7%0�
5���mo��5��
!�1"
8������� ( x  = 3.56) !�1���&(03��� "�
����&�������	�(��
���20�"����������!(���

�
���20 (�,�  :�����	� ( x  = 3.35) ��2�&��1%
5������� 
 

 
 
 
 
 
 
 
 
 

 
����
�%0�����mo��5��!�1"
8��5'����� 

���
�5�����5�
����k�� 

����A����
(Mean) 

����������
 ��� ���
!�����
 
�"
�#$ 

1. �
%&(0"�
����7%0�
5���mo��5��!�1"
8������� 0.893 3.56 ��� 
2. �
%&(0"�
����7%0�
5���mo��5��!�1"
8�������  
     ����������,��� 

0.895 3.53 ��� 

3. &(03��� "�
����&�������	�(��
���20�"������� 
     ���!(����
���20(�,� :�����	� 

1.022 3.35 ������� 

���
��A����  3.48 ������� 
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%0���
���0�
(�0�&� ����?�"/���2��0�� 
 

 ��� ���&(0�20������
���20�
�� ����:7%0�0�
(�0�&�(�0���������� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 6 5.3 5.3 

�0�� 10 8.8 14.0 

������� 33 28.9 43.0 

��� 43 37.7 80.7 

������ '% 22 19.3 100.0 

 �
� 114 100.0  

 
�������1�������'��#��� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 18 15.8 17.5 

������� 34 29.8 47.4 

��� 42 36.8 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  
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��,����-�!(�����������!�1�
�� ����: 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 6 5.3 5.3 

�0�� 19 16.7 21.9 

������� 29 25.4 47.4 

��� 42 36.8 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  

 
&?0�155�')#���!�1�')Q�"/����� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 6 5.3 5.3 

�0�� 6 5.3 10.5 

������� 39 34.2 44.7 

��� 53 46.5 91.2 

������ '% 10 8.8 100.0 

 �
� 114 100.0  
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�����1�
���/0��2��
����%�(.�����
�%0���
���0�
(�0�&� ����?�"/���2��0��3%�&?0
3��!��� -���.��2�����%
���� 

 

����
�%0���
���0�
(�0�&� ����?�" �-��
� ����A���� ����5�����5�
����k�� 

1.  ��� ���&(0�20������
���20�
�� ����:7%0  
    �0�
(�0�&�(�0���������� 

114 3.57 1.064 

2. �������1�������'��#��� 114 3.49 .998 

3. ��,����-�!(�����������!�1�
�� ����: 114 3.41 1.104 

4. &?0�155�')#���!�1�')Q�"/����� 114 3.48 .924 

�
� 114   

 
�
�
���� 4.25 

��
 �"*&!:)�5##�$*'
)��
 	'
�!)'
2)�
$�
<�+������,�)�(	#'
� 
 

 
����������� 4.25 �2��0���(.�
������
�%0���
���0�
(�0�&� ����?�"/���

!���2��0��

 ����: ��� ���!����� 
�"
�#$���%�&�3������'� �(����7%0&��1%
5������� ( x  = 3.487) 

 
����
�%0���
���0�
(�0�&� ����?�" 

���
�5�����5�
����k�� 

����A����
(Mean) 

���������� ��� ���
!����� 
�"
�#$ 

1.  ��� ���&(0�20������
���20�
�� ����:7%0 
    �0�
(�0�&�(�0���������� 

1.064 3.57 ��� 

2. �������1�������'��#��� 0.998 3.49 ������� 
3. ��,����-�!(�����������!�1
�
�� ����: 

1.104 3.41 ������� 

4. &?0�155�')#���!�1�')Q�"/����� 0.924 3.48 ������� 
���
��A����  3.4875 ������� 
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!�1�
����%�(.�����
�%0���
���0�
(�0�&� ����?�"/���

!���2��0���������&��1%
5��� �,�
��� ��� ���&(0�20������
���20�
�� ����:7%0�0�
(�0�&�(�0���������� ( x  = 3.57) !�1�����

��1����������'��#��� ( x  = 3.49) �������,����-�!(�������
�� ����: ( x  = 3.41) ��2�&��1%
5

������� 
 
%0���
�����%Q
�&�3�����/���2��0�� 

 
����0�(�0����&(05�����%0���
�����%Q
�������
���20�
�� ����: 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 8 7.0 8.8 

������� 36 31.6 40.4 

��� 56 49.1 89.5 

������ '% 12 10.5 100.0 

 �
� 114 100.0  

 
������5��%0���
�����%Q
�&�3����� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 5 4.4 6.1 

������� 36 31.6 37.7 

��� 51 44.7 82.5 

������ '% 20 17.5 100.0 

 �
� 114 100.0  
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�
% ���!
%�0��&�3�����&(0:2� '/�
�	)1 
 

 
 
 
 
 

 
 
 
 
 

&?0��������
�����%Q
�&�����-���� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0�� 10 8.8 8.8 

������� 29 25.4 34.2 

��� 57 50.0 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  

 
 
 
 
 
 
 
 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 8 7.0 8.8 

������� 45 39.5 48.2 

��� 43 37.7 86.0 

������ '% 16 14.0 100.0 

 �
� 114 100.0  
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�� -��
����&(05�����%0�����!"��$!�1"��5�� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 20 17.5 17.5 

�0�� 12 10.5 28.1 

������� 28 24.6 52.6 

��� 40 35.1 87.7 

������ '% 14 12.3 100.0 

 �
� 114 100.0  

 
�����1�
���/0��2��
����%�(.�����
�%0���
�����%Q
�&�3�����/���2��0��3%�&?03��!���
 -���.��2�����%
���� 

 

����
�%0���
�����%Q
�&�3����� �-��
� ����A���� ����5�����5�
����k�� 

1. ����0�(�0����&(05�����%0���
�����%Q
������  
    �
���20�
�� ����: 

114 3.60 .838 

2. ������5��%0���
�����%Q
�&�3����� 114 3.72 .867 

3. �
% ���!
%�0��&�3�����&(0:2� '/�
�	)1 114 3.55 .883 

4. &?0��������
�����%Q
�&�����-���� 114 3.73 .834 

5. �� -��
����&(05�����%0�����!"��$!�1"��5�� 114 3.14 1.282 

�
� 114   
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�
�
���� 4.26 

��
 �"*&!:)�5##�$*'
)��
 ���*-�$2)3���
)����(	#'
� 
 

 
����������� 4.26 �

!���2��0���(.�
������
�%0���
�����%Q
�&�3����� ����:

 ��� ���!����� 
�"
�#$���%�&�3������'� �(����7%0&��1%
5��� ( x  = 3.548) �,� ���&?0

��������
�����%Q
�&�����-���� ( x  = 3.73) ������5��%0���
�����%Q
�&�����-���� 

( x  = 3.72) ����0�(�0����&(05�����%0���
�����%Q
�������
���20�
�� ����: ( x  = 3.60) ����
%

 ���!
%�0��&�3�����&(0:2� '/�
�	)1 ( x  = 3.55) !�1�� -��
����&(05�����%0�����!"��$!�1

"��5�� ( x  = 3.14) ��2�&��1%
5������� 

 
 
 
 
 
 
 
 
 

 
����
�%0���
�����%Q
�&�3����� 

���
�5�����5�
����k�� 

����A����
(Mean) 

���������� ��� ���
!����� 
�"
�#$ 

1. ����0�(�0����&(05�����%0���
�����%Q
����   
    ���
���20�
�� ����: 

0.838 3.60 ��� 

2. ������5��%0���
�����%Q
�&�3����� 0.867 3.72 ��� 
3. �
% ���!
%�0��&�3�����&(0:2� '/�
�	)1 0.883 3.55 ��� 
4. &?0��������
�����%Q
�&�����-���� 0.834 3.73 ��� 
5. �� -��
����&(05�����%0�����!"��$!�1  
    "��5�� 

1.282 3.14 ������� 

���
��A���� 0.9408 3.548 ��� 
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%0���3�5��!�1!�����%0��!����� 
�"
�#$/���2��0�� 
 

������-�(�%�3�5��!�1!�����%0��!����� 
�"
�#$����(��1 � ����l(���!����� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 8 7.0 7.0 

�0�� 21 18.4 25.4 

������� 27 23.7 49.1 

��� 48 42.1 91.2 

������ '% 10 8.8 100.0 

 �
� 114 100.0  

 
�
5�'�����W�5
������3�5��������������
%!�1 �0�� ���$&�������%� 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 21 18.4 21.9 

������� 35 30.7 52.6 

��� 48 42.1 94.7 

������ '% 6 5.3 100.0 

 �
� 114 100.0  
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���155!�1(�
����5��(��!����� 
�"
�#$�������#��� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 21 18.4 21.9 

������� 29 25.4 47.4 

��� 52 45.6 93.0 

������ '% 8 7.0 100.0 

 �
� 114 100.0  

 
�3�5��!�1!�����%0��!����� 
�"
�#$ ����:�������!���7%0��� :�����)$!�1�
��
�(��1 � 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 23 20.2 21.9 

������� 43 37.7 59.6 

��� 34 29.8 89.5 

������ '% 12 10.5 100.0 

 �
� 114 100.0  
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�����1�
���/0��2��
����%�(.�����
�%0���3�5��!�1!�����%0��!����� 
�"
�#$/���2��0��
3%�&?03��!��� -���.��2�����%
���� 

 

����
�%0���3�5��!�1!�����%0��!����� 
�"
�#$ �-��
� ����A���� ����5�����5�
����k�� 

1. ������-�(�%�3�5��!�1!�����%0��!�����  
     
�"
�#$����(��1 � ����l(���!����� 

114 3.27 1.083 

2. �
5�'�����W�5
������3�5��������������
%!�1  
     �0�� ���$&�������%� 

114 3.27 .943 

3. ���155!�1(�
����5��(��!����� 
�"
�#$�������  
    #��� 

114 3.34 .976 

4. �3�5��!�1!�����%0��!����� 
�"
�#$ ����:  
    �������!���7%0��� :�����)$!�1�
���(��1 � 

114 3.27 .962 

�
� 114   
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�
�
���� 4.27 

��
 �"*&!:)�5##�$*'
))3$�
$,��,�)�
)*'
),���
)�� +�)0�����(	#'
� 
 

 

����������� 4.27 �2��0���(.�
������
�%0���3�5��!�1!�����%0��!����� 
�"
�#$
 ����: ��� ���!����� 
�"
�#$���%�&�3������'� �(����7%0&��1%
5������� ( x  = 3.287) �,� 

������155!�1(�
����5��(��!����� 
�"
�#$�������#��� ( x  = 3.34) ������-�(�%�3�5��!�1

!�����%0��!����� 
�"
�#$����(��1 �����l(���!����� !�1�
5�'�����W�5
������3�5��
������������
%!�1 �0�� ���$&�������%� ( x  = 3.27) 

 
 
 
 
 
 
 

����
�%0���3�5��!�1!����� 
%0��!����� 
�"
�#$ 

���
�5�����5�
����k�� 

����A����
(Mean) 

����������
 ��� ���!�����

 
�"
�#$ 
1. ������-�(�%�3�5��!�1!�����%0��!�����  
     
�"
�#$����(��1 � ����l(���!����� 

1.083 3.27 ������� 

2. �
5�'�����W�5
������3�5��������������
%  
     !�1 �0�� ���$&�������%� 

0.943 3.27 ������� 

3. ���155!�1(�
����5��(��!����� 
�"
�#$���  
    ����#��� 

0.976 3.34 ������� 

4. �3�5��!�1!�����%0��!����� 
�"
�#$  
      ����:�������!���7%0��� :�����)$!�1  
     �
���(��1 � 

0.962 3.27 ������� 

���
��A���� 0.991 3.2875 ������� 
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%0���
�����/��mn������0��!�1�2��0��/���2��0�� 
 

                               /�
%�
�����&��?���5 (������7��%�) /������0�� 
  

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 6 5.3 5.3 

�0�� 14 12.3 17.5 

������� 50 43.9 61.4 

��� 26 22.8 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  

 
����0�����
�����������%����!����� 
�"
�#$ 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 8 7.0 7.0 

�0�� 14 12.3 19.3 

������� 34 29.8 49.1 

��� 40 35.1 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  
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/�
%�
�����&��?���5 (������7��%�) /���2��0�� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 4 3.5 3.5 

�0�� 14 12.3 15.8 

������� 48 42.1 57.9 

��� 30 26.3 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  

 
�2��0�����
�����������%����!����� 
�"
�#$ 

 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 2 1.8 1.8 

�0�� 10 8.8 10.5 

������� 52 45.6 56.1 

��� 32 28.1 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  
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��
5�
�����/��mn������0��!�1�2��0��&(0 �%��0���
� 
 

 �1%
5 ����
��:�� �0���1 �
�����0���1 

 �0����� '% 6 5.3 5.3 

�0�� 14 12.3 17.5 

������� 42 36.8 54.4 

��� 34 29.8 84.2 

������ '% 18 15.8 100.0 

 �
� 114 100.0  

 
�����1�
���/0��2��
����%�(.�����
�%0���3�5��!�1!�����%0���
�����/��mn������0��!�1
�2��0��/���2��0��3%�&?03��!��� -���.��2�����%
���� 

 

����
�%0���
�����/��mn������0��!�1�2��0�� �-��
� ����A���� ����5�����5�
����k�� 

1. /�
%�
�����&��?���5 (������7��%�) /������0�� 114 3.32 1.050 

2. ����0�����
�����������%����!����� 
�"
�#$ 114 3.40 1.111 

3. /�
%�
�����&��?���5 (������7��%�) /���2��0�� 114 3.39 1.009 

4. �2��0�����
�����������%����!����� 
�"
�#$ 114 3.47 .924 

5. ��
5�
�����/��mn������0��!�1�2��0��&(0  
     �%��0���
� 

114 3.39 1.060 

�
� 114   
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�
�
���� 4.28 

��
 �"*&!:)�5##�$*'
)���)��"���>A
$)
$#'
�,���(	#'
� ����(	#'
� 
 

 
����������� 4.28 �2��0���(.�
������
�%0���
�����/��mn������0��!�1�2��0�� ����: ��� ���

!����� 
�"
�#$���%�&�3������'� �(����7%0&��1%
5�������( x  = 3.394) �?�� �2��0����

�
��������%����!����� 
�"
�#$ ( x  = 3.47) ����0�����
��������%����!����� 
�"
�#$ ( x  = 3.40) 

!�1���/�
%�
�����&��?���5 (������7��%�) /���2��0�� ( x  = 3.39) �����0� 

����������� 4.9 - 4.26  �'�7%0
���

!������0��!�1�2��0�����
���(.�����
�
�� ����
�%0��
�����%,��!�1����0�� �����%��� ,�� �� !�1�
�����%Q
�&�3����� ���������� ��� ���!�����
 
�"
�#$&��1%
5���  �
�����
�%0�������%��� ,�� �� �3�5��!�1!�����%0��!����� 
�"
�#$ 
���������� ��� ���!����� 
�"
�#$&��1%
5�������  �

!������0��!�1�2��0�����
���(.�7��
����
�&�����
�%0������� �
���
�/��"�
���� ���mo��5��!�1"
8��5'����� �
���0�
(�0�
&� ����?�" !�1�
�����/��mn������0��!�1�2��0�� ����
�,��

!������0���(.�
������
�%0�����
�� �
���
�/��"�
���� ���mo��5��!�1"
8��5'����� �
���0�
(�0�&� ����?�" !�1�
�����
/��mn������0��!�1�2��0�� ���������� ��� ���!����� 
�"
�#$&��1%
5��� !���2��0���(.�
��
����
�%
�����
���������� ��� ���!����� 
�"
�#$&��1%
5������� 

 

 
����
�%0���
�����/��mn������0��!�1�2��0�� 

���
�5�����5�
����k�� 

����A����
(Mean) 

����������
 ��� ���!�����

 
�"
�#$ 
1. /�
%�
�����&��?���5 (������7��%�) /��  
    ����0�� 

1.050 3.32 ������� 

2. ����0�����
�����������%����!����� 
�"
�#$ 1.111 3.40 ������� 
3. /�
%�
�����&��?���5 (������7��%�) /��  
    �2��0�� 

1.009 3.39 ������� 

4. �2��0�����
�����������%����!����� 
�"
�#$ 0.924 3.47 ������� 
5. ��
5�
�����/��mn������0��!�1�2��0��&(0  
     �%��0���
� 

1.060 3.39 ������� 

���
��A���� 1.0308 3.394 ������� 
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! %���������5����5�
����%�(.��1(
����

!������0��!�1�2��0�� %0������
���� ��� ���
!����� 
�"
�#$���%�&�3������'� �(���� !�����/��%/��3������'� �(���� 

 
�
�
���� 4.29 

��
 �"*&!:)������,�))
$#'
�3���
)�)
*&�:	 

 
����
�%0�� ����A����(Mean) ���������� ��� ���

!����� 
�"
�#$ 
1. �����%,��!�1����0�� 3.68 ��� 
2.  

 %���� 3.09 ������� 
3. �����%��� ,�� �� 3.65 ��� 
4. ����� �
���
�/��"�
���� 3.67 ��� 
5. ���mo��5��!�1"
8��5'����� 3.38 ������� 
6. �
���0�
(�0�&� ����?�" 3.67 ��� 
7. �
�����%Q
�&�3����� 3.50 ������� 
8. �3�5��!�1!�����%0��!����� 
�"
�#$ 3.37 ������� 
9. �
�����/��mn������0��!�1�2��0�� 3.58 ��� 

           
����������� 4.29 ! %��
����%�(.�/���

!������0��3�����/��%��.�  �'�/0��2�7%0%
���� 

1.  �

!������0��/��3�����/��%��.��(.�
�� 
 1.1 ����
�%0�������%,��!�1����0�� ����: ��� ���!����� 
�"
�#$���%�&�3�����

�'� �(����7%0&��1%
5��� 
 1.2 ����
�%0�� 

 %���� ����: ��� ���!����� 
�"
�#$���%�&�3������'� �(����7%0

&��1%
5������� 
 1.3 ����
�%0����%��� ,�� �� ����: ��� ���!����� 
�"
�#$���%�&�3������'� �(����

7%0&��1%
5��� 
 1.4 ����
�%0������� �
���
�/��"�
���� ����: ��� ���!����� 
�"
�#$���%�&�

3������'� �(����7%0&��1%
5��� 
 1.5 ����
�%0�����mo��5��!�1"
8��5'����� ����: ��� ���!����� 
�"
�#$���%�&�

3������'� �(����7%0&��1%
5������� 
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 1.6  ����
�%0���
���0�
(�0�&� ����?�" ����: ��� ���!����� 
�"
�#$���%�&�
3������'� �(����7%0&��1%
5��� 

 1.7  ����
�%0���
�����%Q
�&�3����� ����: ��� ���!����� 
�"
�#$���%�&�3�����
�'� �(����7%0&��1%
5������� 

 1.8  ����
�%0���3�5��!�1!�����%0��!����� 
�"
�#$ ����: ��� ���!�����
 
�"
�#$���%�&�3������'� �(����7%0&��1%
5������� 

 1.9  ����
�%0���
�����/��mn������0��!�1�2��0�� ����: ��� ���!����� 
�"
�#$���%�
&�3������'� �(����7%0&��1%
5��� 

 
�
�
���� 4.30 

��
 �"*&!:)������,�))
$#'
�3���
)�)
*	�
� 

 
����
�%0�� ����A����(Mean) ���������� ��� ���

!����� 
�"
�#$ 
1. �����%,��!�1����0�� 3.91 ��� 
2.  

 %���� 3.20 ������� 
3. �����%��� ,�� �� 3.62 ��� 
4. ����� �
���
�/��"�
���� 3.77 ��� 
5. ���mo��5��!�1"
8��5'����� 3.58 ��� 
6. �
���0�
(�0�&� ����?�" 3.65 ��� 
7. �
�����%Q
�&�3����� 3.69 ��� 
8. �3�5��!�1!�����%0��!����� 
�"
�#$ 3.44 ������� 
9. �
�����/��mn������0��!�1�2��0�� 3.59 ��� 

 
       ����������� 4.30 ! %��
����%�(.�/���

!������0��3�����/��%����  �'�/0��2�7%0%
���� 

2.  �

!������0��/��3�����/��%�����(.�
�� 
2.1  ����
�%0�������%,��!�1����0�� ����: ��� ���!����� 
�"
�#$���%�&�3�����

�'� �(����7%0&��1%
5��� 
2.2  ����
�%0�� 

 %���� ����: ��� ���!����� 
�"
�#$���%�&�3������'� �(����

7%0&��1%
5������� 
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2.3  ����
�%0 ����%��� ,�� �� ����: �� � ���!����� 
�"
�#$���%� &�3�����
�'� �(����7%0&��1%
5��� 

2.4  ����
�%0������� �
���
�/��"�
���� ����: ��� ���!����� 
�"
�#$���%�&�
3������'� �(����7%0&��1%
5��� 

2.5  ����
�%0�����mo��5��!�1"
8��5'����� ����: ��� ���!����� 
�"
�#$���%�&�
3������'� �(����7%0&��1%
5��� 

2.6  ����
�%0���
���0�
(�0�&� ����?�" ����: ��� ���!����� 
�"
�#$���%�&�
3������'� �(����7%0&��1%
5��� 

2.7  ����
�%0���
�����%Q
�&�3����� ����: ��� ���!����� 
�"
�#$���%�&�3�����
�'� �(����7%0&��1%
5��� 

2.8  ����
�%0���3�5��!�1!�����%0��!����� 
�"
�#$ ����: ��� ���!�����
 
�"
�#$���%�&�3������'� �(����7%0&��1%
5������� 

2.9  ����
�%0���
�����/��mn������0��!�1�2��0�� ����: ��� ���!����� 
�"
�#$���%�
&�3������'� �(����7%0&��1%
5��� 

 

�
�
���� 4.31 

��
 �"*&!:)������,�))
$#'
�3���
)�)
*2!6. 

 
����
�%0�� ����A����(Mean) ���������� ��� ���

!����� 
�"
�#$ 
1. �����%,��!�1����0�� 3.92 ��� 
2.  

 %���� 3.24 ������� 
3. �����%��� ,�� �� 3.63 ��� 
4. ����� �
���
�/��"�
���� 3.73 ��� 
5. ���mo��5��!�1"
8��5'����� 3.61 ��� 
6. �
���0�
(�0�&� ����?�" 3.65 ��� 
7. �
�����%Q
�&�3����� 3.83 ��� 
8. �3�5��!�1!�����%0��!����� 
�"
�#$ 3.70 ��� 
9. �
�����/��mn������0��!�1�2��0�� 3.75 ��� 
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        ����������� 4.31 ! %��
����%�(.�/���

!������0��3�����/��%&(S�  �'�/0��2�7%0%
���� 
3.  �

!������0��/��3�����/��%&(S��(.�
�� 
3.1  ����
�%0�������%,��!�1����0�� ����: ��� ���!����� 
�"
�#$���%�&�3�����

�'� �(����7%0&��1%
5��� 
3.2  ����
�%0�� 

 %���� ����: ��� ���!����� 
�"
�#$���%�&�3������'� �(����

7%0&��1%
5������� 
3.3  ����
�%0����%��� ,�� �� ����: ��� ���!����� 
�"
�#$���%�&�3�����

�'� �(����7%0&��1%
5��� 
3.4  ����
�%0������� �
���
�/��"�
���� ����: ��� ���!����� 
�"
�#$���%�&�

3������'� �(����7%0&��1%
5��� 
3.5  ����
�%0�����mo��5��!�1"
8��5'����� ����: ��� ���!����� 
�"
�#$���%�&�

3������'� �(����7%0&��1%
5��� 
3.6  ����
�%0���
���0�
(�0�&� ����?�" ����: ��� ���!����� 
�"
�#$���%�&�

3������'� �(����7%0&��1%
5��� 
3.7  ����
�%0���
�����%Q
�&�3����� ����: ��� ���!����� 
�"
�#$���%�&�3�����

�'� �(����7%0&��1%
5��� 
3.8  ����
�%0���3�5��!�1!�����%0��!����� 
�"
�#$ ����: ��� ���!�����

 
�"
�#$���%�&�3������'� �(����7%0&��1%
5��� 
3.9  ����
�%0���
�����/��mn������0��!�1�2��0�� ����: ��� ���!����� 
�"
�#$���%�

&�3������'� �(����7%0&��1%
5��� 
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�
�
���� 4.32 

��
 �"*&!:)����(	#'
�3���
)�)
*&�:	 

 
����
�%0�� ����A����(Mean) ���������� ��� ���

!����� 
�"
�#$ 
1. �����%,��!�1����0�� 3.66 ��� 
2.  

 %���� 3.07 ������� 
3. �����%��� ,�� �� 3.59 ��� 
4. ����� �
���
�/��"�
���� 3.45 ������� 
5. ���mo��5��!�1"
8��5'����� 3.40 ������� 
6. �
���0�
(�0�&� ����?�" 3.52 ��� 
7. �
�����%Q
�&�3����� 3.35 ������� 
8. �3�5��!�1!�����%0��!����� 
�"
�#$ 3.15 ������� 
9. �
�����/��mn������0��!�1�2��0�� 3.27 ������� 
 

����������� 4.32 ! %��
����%�(.�/���2��0��3�����/��%��.�  �'�/0��2�7%0%
���� 
4.  �2��0��/��3�����/��%��.��(.�
�� 
4.1  ����
�%0�������%,��!�1����0�� ����: ��� ���!����� 
�"
�#$���%�&�3�����

�'� �(����7%0&��1%
5��� 
4.2  ����
�%0�� 

 %���� ����: ��� ���!����� 
�"
�#$���%�&�3������'� �(����

7%0&��1%
5������� 
4.3  ����
�%0 ����%��� ,�� �� ����: �� � ���!����� 
�"
�#$���%� &�3�����

�'� �(����7%0&��1%
5��� 
4.4  ����
�%0������� �
���
�/��"�
���� ����: ��� ���!����� 
�"
�#$���%�&�

3������'� �(����7%0&��1%
5������� 
4.5  ����
�%0�����mo��5��!�1"
8��5'����� ����: ��� ���!����� 
�"
�#$���%�&�

3������'� �(����7%0&��1%
5������� 
4.6  ����
�%0���
���0�
(�0�&� ����?�" ����: ��� ���!����� 
�"
�#$���%�&�

3������'� �(����7%0&��1%
5��� 
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4.7  ����
�%0���
�����%Q
�&�3����� ����: ��� ���!����� 
�"
�#$���%�&�3�����
�'� �(����7%0&��1%
5������� 

4.8  ����
�%0���3�5��!�1!�����%0��!����� 
�"
�#$ ����: ��� ���!�����
 
�"
�#$���%�&�3������'� �(����7%0&��1%
5������� 

4.9  ����
�%0���
�����/��mn������0��!�1�2��0�� ����: ��� ���!����� 
�"
�#$���%�
&�3������'� �(����7%0&��1%
5������� 
 

�
�
���� 4.33 

��
 �"*&!:)����(	#'
�3���
)�)
*	�
� 

 
����
�%0�� ����A����(Mean) ���������� ��� ���

!����� 
�"
�#$ 
1. �����%,��!�1����0�� 3.68 ��� 
2.  

 %���� 3.14 ������� 
3. �����%��� ,�� �� 3.45 ������� 
4. ����� �
���
�/��"�
���� 3.46 ������� 
5. ���mo��5��!�1"
8��5'����� 3.47 ������� 
6. �
���0�
(�0�&� ����?�" 3.45 ������� 
7. �
�����%Q
�&�3����� 3.56 ��� 
8. �3�5��!�1!�����%0��!����� 
�"
�#$ 3.27 ������� 
9. �
�����/��mn������0��!�1�2��0�� 3.41 ������� 

 
����������� 4.33 ! %��
����%�(.�/���2��0��3�����/��%����  �'�/0��2�7%0%
���� 
5.  �2��0��/��3�����/��%�����(.�
�� 
5.1  ����
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�"
�#$7%0&��1%
5��� 
3.2  ����
�%0�� 

 %����������������
5��'�!�07/!�1"
8��%0��!����� 
�"
�#$7%0

&��1%
5��� 
3.3  ����
�%0����%��� ,�� ��������������
5��'�!�07/!�1"
8��%0��!����� 
�"
�#$

7%0&��1%
5������� 
3.4  ����
�%0������� �
���
�/��"�
����������������
5��'�!�07/!�1"
8��%0��

!����� 
�"
�#$7%0&��1%
5��� 
3.5  ����
�%0�����mo��5��!�1"
8��5'�����������������
5��'�!�07/!�1"
8��

%0��!����� 
�"
�#$7%0&��1%
5��� 
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3.6  ����
�%0���
���0�
(�0�&� ����?�"������������
5��'�!�07/!�1"
8��%0��
!����� 
�"
�#$7%0&��1%
5��� 

3.7  ����
�%0���
�����%Q
�&�3�����������������
5��'�!�07/!�1"
8��%0��
!����� 
�"
�#$7%0&��1%
5��� 

3.8  ����
�%0���3�5��!�1!�����%0��!����� 
�"
�#$������������
5��'�!�07/
!�1"
8��%0��!����� 
�"
�#$7%0&��1%
5��� 

3.9  ����
�%0���
�����/��mn������0��!�1�2��0��������������
5��'�!�07/!�1"
8��
%0��!����� 
�"
�#$7%0&��1%
5��� 
 

�
�
���� 4.40 

��
 �"*&!:)������,�)�(	#'
�3���
)�)
*&�:	 

 
 

����
�%0�� 
 

����A����(Mean) 
�2��0����%
������������
��
5��'�!�07/!�1
"
8��%0��!�����

 
�"
�#$ 
1. �����%,��!�1����0�� 3.76 ��� 
2.  

 %���� 3.53 ��� 
3. �����%��� ,�� �� 3.01 ������� 
4. ����� �
���
�/��"�
���� 3.49 ������� 
5. ���mo��5��!�1"
8��5'����� 3.43 ������� 
6. �
���0�
(�0�&� ����?�" 3.29 ������� 
7. �
�����%Q
�&�3����� 3.62 ��� 
8. �3�5��!�1!�����%0��!����� 
�"
�#$ 3.34 ������� 
9. �
�����/��mn������0��!�1�2��0�� 3.68 ��� 
 
����������� 4.40 ! %��
����%�(.�/���

!���2��0��3�����/��%��.� 

4.  �2��0��/��3�����/��%��.��(.�
�� 
4.1  ����
�%0�������%,��!�1����0��������������
5��'�!�07/!�1"
8��%0��!�����

 
�"
�#$7%0&��1%
5��� 
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4.2  ����
�%0�� 

 %����������������
5��'�!�07/!�1"
8��%0��!����� 
�"
�#$7%0
&��1%
5��� 

4.3  ����
�%0����%��� ,�� ��������������
5��'�!�07/!�1"
8��%0��!����� 
�"
�#$
7%0&��1%
5������� 

4.4  ����
�%0������� �
���
�/��"�
����������������
5��'�!�07/!�1"
8��%0��
!����� 
�"
�#$7%0&��1%
5������� 

4.5  ����
�%0�����mo��5��!�1"
8��5'�����������������
5��'�!�07/!�1"
8��
%0��!����� 
�"
�#$7%0&��1%
5������� 

4.6  ����
�%0���
���0�
(�0�&� ����?�"������������
5��'�!�07/!�1"
8��%0��
!����� 
�"
�#$7%0&��1%
5������� 

4.7  ����
�%0���
�����%Q
�&�3�����������������
5��'�!�07/!�1"
8��%0��
!����� 
�"
�#$7%0&��1%
5��� 

4.8  ����
�%0���3�5��!�1!�����%0��!����� 
�"
�#$������������
5��'�!�07/
!�1"
8��%0��!����� 
�"
�#$7%0&��1%
5������� 

4.9  ����
�%0���
�����/��mn������0��!�1�2��0��������������
5��'�!�07/!�1"
8��
%0��!����� 
�"
�#$&��1%
5��� 
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�
�
���� 4.41 

��
 �"*&!:)������,�)�(	#'
�3���
)�)
*	�
� 

 
 

����
�%0�� 
 

����A����(Mean) 
�2��0����%
������������
��
5��'�!�07/!�1
"
8��%0��!�����

 
�"
�#$ 
1. �����%,��!�1����0�� 3.76 ��� 
2.  

 %���� 3.56 ��� 
3. �����%��� ,�� �� 3.19 ������� 
4. ����� �
���
�/��"�
���� 3.51 ��� 
5. ���mo��5��!�1"
8��5'����� 3.44 ������� 
6. �
���0�
(�0�&� ����?�" 3.35 ������� 
7. �
�����%Q
�&�3����� 3.66 ��� 
8. �3�5��!�1!�����%0��!����� 
�"
�#$ 3.46 ������� 
9. �
�����/��mn������0��!�1�2��0�� 3.70 ��� 
 
����������� 4.41 ! %��
����%�(.�/���

!���2��0��3�����/��%���� 

5.  �2��0��/��3�����/��%�����(.�
�� 
5.1  ����
�%0�������%,��!�1����0��������������
5��'�!�07/!�1"
8��%0��!�����

 
�"
�#$7%0&��1%
5��� 
5.2  ����
�%0�� 

 %����������������
5��'�!�07/!�1"
8��%0��!����� 
�"
�#$7%0

&��1%
5��� 
5.3  ����
�%0����%��� ,�� ��������������
5��'�!�07/!�1"
8��%0��!����� 
�"
�#$

7%0&��1%
5������� 
5.4  ����
�%0������� �
���
�/��"�
����������������
5��'�!�07/!�1"
8��%0��

!����� 
�"
�#$7%0&��1%
5��� 
5.5  ����
�%0�����mo��5��!�1"
8��5'�����������������
5��'�!�07/!�1"
8��

%0��!����� 
�"
�#$7%0&��1%
5������� 
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5.6  ����
�%0���
���0�
(�0�&� ����?�"������������
5��'�!�07/!�1"
8��%0��
!����� 
�"
�#$7%0&��1%
5������� 

5.7  ����
�%0���
�����%Q
�&�3�����������������
5��'�!�07/!�1"
8��%0��
!����� 
�"
�#$7%0&��1%
5������� 

5.8  ����
�%0���3�5��!�1!�����%0��!����� 
�"
�#$������������
5��'�!�07/
!�1"
8��%0��!����� 
�"
�#$7%0&��1%
5������� 

5.9  ����
�%0���
�����/��mn������0��!�1�2��0��������������
5��'�!�07/!�1"
8��
%0��!����� 
�"
�#$7%0&��1%
5��� 

 
�
�
���� 4.42 

��
 �"*&!:)������,�)�(	#'
�3���
)�)
*2!6. 

 
 

����
�%0�� 
 

����A����(Mean) 
�2��0����%
������������
��
5��'�!�07/!�1
"
8��%0��!�����

 
�"
�#$ 
1. �����%,��!�1����0�� 3.60 ��� 
2.  

 %���� 3.99 ��� 
3. �����%��� ,�� �� 3.55 ��� 
4. ����� �
���
�/��"�
���� 3.65 ��� 
5. ���mo��5��!�1"
8��5'����� 3.69 ��� 
6. �
���0�
(�0�&� ����?�" 3.59 ��� 
7. �
�����%Q
�&�3����� 3.77 ��� 
8. �3�5��!�1!�����%0��!����� 
�"
�#$ 3.83 ��� 
9. �
�����/��mn������0��!�1�2��0�� 3.83 ��� 
 
����������� 4.42 ! %��
����%�(.�/���

!���2��0��3�����/��%&(S� 

6.  �2��0��/��3�����/��%&(S��(.�
�� 
6.1  ����
�%0�������%,��!�1����0��������������
5��'�!�07/!�1"
8��%0��!�����

 
�"
�#$7%0&��1%
5��� 
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6.2  ����
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6.7  ����
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5��'�!�07/!�1"
8��%0��
!����� 
�"
�#$7%0&��1%
5��� 

6.8  ����
�%0���3�5��!�1!�����%0��!����� 
�"
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5��'�!�07/
!�1"
8��%0��!����� 
�"
�#$7%0&��1%
5��� 

6.9  ����
�%0���
�����/��mn������0��!�1�2��0��������������
5��'�!�07/!�1"
8��
%0��!����� 
�"
�#$7%0&��1%
5��� 

 
4.4  ��	
��*����  �"B
) 

 
1.   �

!������0��!�1�2��0�����
����%�(.������
�
5����
���� ��� ���!����� 
�"
�#$���%�

&�3������'� �(����!�������
�(�,�7�� 3%�!���������
���� ��� ���!����� 
�"
�#$���%�&�
3������'� �(�����
�� 9 %0��  
 
�����1($/0��2�3%�&?0
�#����
�����1($�
��!����
�!55����%��
 (One Way Anova) 
�% �5 ����k�� 3%�&?0�

!����,����
����%�(.������
�
5����
���� ��� ���!����� 
�"
�#$���%�&�
3������'� �(�����
�� 9 %0��/���

!������0��!�1�2��0�������5����5�
�  

H0: �

!������0��!�1�2��0�����
����%�(.�%0�������%,��!�1����0��&���� ��� ���
!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!������0��!�1�2��0�����
����%�(.�%0�������%,��!�1����0��&���� ��� ���
!����� 
�"
�#$���%�&�3������'� �(����7��!�������
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 �����
�����1($/0��2�7%0����������1�
������ :���3%�&?03��!��� -���.��2� ! %�
�

����� 7%0%
���� 
 

ANOVA 

 

        ������� 

  

Sum of 

Squares df Mean Square F Sig. 

Between Groups 1.501 1 1.501 3.775 .053 

Within Groups 89.870 226 .398     

Total 91.371 227       

      

 
����#�5��/0��2����7%0��������1�
���3%�&?03��!��� -���.��2� �,� 
�������� "����)���� Sig. ����(�
�3%����
��$����15'��� Sig �,���� P (P value : �
��

����1����) ���&?0�% �5 ����k��  !�1������	�
��
���
������-�(�%��� α (�1%
5�
� -��
S) = 0.050 
:0���� P ������0���
��(�,������
5 α �1:,�
�� Sig !��:0���� P ���������
�� α :,�
��7�� Sig 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.053  α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
����� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
 ! %�
���

!������0��!�1�2��0�����
����%�(.�%0�������%,��!�1����0��&���� ��� ���
!����� 
�"
�#$���%�&�3������'� �(����!�������
���������
� -��
S��� :��� 

 
H0: �

!������0��!�1�2��0�����
����%�(.�%0�� 

 %����&���� ��� ���!�����

 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!������0��!�1�2��0�����
����%�(.�%0�� 

 %����&���� ��� ���!�����
 
�"
�#$���%�&�3������'� �(����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.668   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!������0��!�1�2��0�����
����%�(.�%0�� 

 %����&���� ��� ���!�����
 
�"
�#$���%�&�3������'� �(����!�������
���������
� -��
S��� :��� 

  
H0: �

!������0��!�1�2��0�����
����%�(.�%0�������%��� ,�� ��&���� ��� ���!�����

 
�"
�#$���%�&�3������'� �(����!�������
� 
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 H1: �

!������0��!�1�2��0�����
����%�(.�%0�������%��� ,�� ��&���� ��� ���!�����
 
�"
�#$���%�&�3������'� �(����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.159   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!������0��!�1�2��0�����
����%�(.�%0�������%��� ,�� ��&���� ��� ���
!����� 
�"
�#$���%�&�3������'� �(����!�������
���������
� -��
S��� :��� 

 
H0: �

!������0��!�1�2��0�����
����%�(.�%0������� �
���
�/��"�
����&����

 ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!������0��!�1�2��0�����
����%�(.�%0������� �
���
�/��"�
����&����
 ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.008   α (�1%
5�
� -��
S) = 
0.05 %
��
����� P �0���
�� ��� α (�����
5 Sig) ����W�� # H0 ����
5 H1 

! %�
���

!������0��!�1�2��0�����
����%�(.�%0������� �
���
�/��"�
����&����
 ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!�������
� 

 
H0: �

!������0��!�1�2��0�����
����%�(.�%0�����mo��5��!�1"
8��5'�����&����

 ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!������0��!�1�2��0�����
����%�(.�%0�����mo��5��!�1"
8��5'�����&����
 ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.712   α (�1%
5�
� -��
S) = 
0.05 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!������0��!�1�2��0�����
����%�(.�%0�����mo��5��!�1"
8��5'�����&�
��� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
���������
� -��
S��� :���  
  

H0: �

!������0��!�1�2��0�����
����%�(.�%0���
���0�
(�0�&� ����?�"&����
 ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!������0��!�1�2��0�����
����%�(.�%0���
���0�
(�0�&� ����?�"&����
 ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!�������
� 
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���������% �5 ����k�� 7%0��� P (�
������1����) = 0.136   α (�1%
5�
� -��
S) = 
0.05 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!������0��!�1�2��0�����
����%�(.�%0���
���0�
(�0�&� ����?�"&����
 ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
���������
� -��
S��� :��� 
 

H0: �

!������0��!�1�2��0�����
����%�(.�%0���
�����%Q
�&�3�����&���� ��� ���
!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!������0��!�1�2��0�����
����%�(.�%0���
�����%Q
�&�3�����&���� ��� ���
!����� 
�"
�#$���%�&�3������'� �(����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.318   α (�1%
5�
� -��
S) = 
0.05 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!������0��!�1�2��0�����
����%�(.�%0���
�����%Q
�&�3�����&����
 ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
���������
� -��
S��� :��� 
 

H0: �

!������0��!�1�2��0�����
����%�(.�%0���3�5��!�1!�����%0��!�����
 
�"
�#$&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!������0��!�1�2��0�����
����%�(.�%0���3�5��!�1!�����%0��!�����
 
�"
�#$&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.158   α (�1%
5�
� -��
S) = 
0.05 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!������0��!�1�2��0�����
����%�(.�%0���3�5��!�1!�����%0��!�����
 
�"
�#$&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
���������
� -��
S���
 :��� 
  

H0: �

!������0��!�1�2��0�����
����%�(.�%0���
�����/��mn������0��!�1�2��0��&�
��� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!������0��!�1�2��0�����
����%�(.�%0���
�����/��mn������0��!�1�2��0��&�
��� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.051   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
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! %�
���

!������0��!�1�2��0�����
����%�(.�%0���
�����/��mn������0��!�1�2��0��
&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
���������
� -��
S��� :��� 
 

2.  �

!������0��!�1�2��0������-����&�3������'� �(���������/��%�����
� ���
��
��%�(.�%0����� ��� ���!����� 
�"
�#$���%�&�3������'� �(���� !�������
�(�,�7��("����)�
!���

!������0��!�1�2��0��) 
 
�����1($/0��2�3%�&?0
�#����
�����1($�
��!����
�!55����%��
 (One Way Anova) 
�% �5 ����k�� 3%�&?0�

!����,����
����%�(.�/���

!������0��!�1�2��0������-����&�
3������'� �(���������/��%�����
� &���,��������
�
5����
���� ��� ���!����� 
�"
�#$���%�&�
3������'� �(�����
�� 9 %0�������5����5�
� 3%�!���

!������0��!�1�2��0��  
  

�����
�����1($/0��2�7%0����������1�
������ :���3%�&?03��!��� -���.��2� ����
%
���� 

H0: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
�����%,��!�1����0��&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
�����%,��!�1����0��&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.140   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
 ! %�
���

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
%0�������%,��!�1����0��&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
�
��������
� -��
S��� :���  
 

H0: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
 

 %����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
 

 %����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.585   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
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 ! %�
���

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
%0�� 

 %����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
��������
�
� -��
S��� :��� 

 
H0: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��

�����%��� ,�� ��&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
�����%��� ,�� ��&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.965   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
 ! %�
���

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
%0�������%��� ,�� ��&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
��������
�
� -��
S��� :��� 
  

H0: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
����� �
���
�/��"�
����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
����� �
���
�/��"�
����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!������
�
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.720   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1! %�
���

!������0�����
�-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0������� �
���
�/��"�
����&�
��� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
���������
� -��
S��� :��� 
  

H0: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
���mo��5��!�1"
8��5'�����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����
!�������
� 
 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
���mo��5��!�1"
8��5'�����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��
!�������
� 
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���������% �5 ����k�� 7%0��� P (�
������1����) = 0.437   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
 ! %�
���

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
%0�����mo��5��!�1"
8��5'�����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����
!�������
���������
� -��
S��� :��� 
 

H0: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
�
���0�
(�0�&� ����?�"&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
�
���0�
(�0�&� ����?�"&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!������
�
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.991   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
 ! %�
���

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
%0���
���0�
(�0�&� ����?�"&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!������
�
���������
� -��
S��� :��� 
  

H0: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
�
�����%Q
�&�3�����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
�
�����%Q
�&�3�����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.265   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
 ! %�
���

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
%0���
�����%Q
�&�3�����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!������
�
���������
� -��
S��� :��� 
 

H0: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0�� .
�3�5��!�1!�����%0��!����� 
�"
�#$&���� ��� ���!����� 
�"
�#$���%�&�3�����
�'� �(����!�������
� 
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 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0�� .
�3�5��!�1!�����%0��!����� 
�"
�#$&���� ��� ���!����� 
�"
�#$���%�&�3�����
�'� �(����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.383   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
 ! %�
���

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
%0���3�5��!�1!�����%0��!����� 
�"
�#$&���� ��� ���!����� 
�"
�#$���%�&�3�����
�'� �(����!�������
���������
� -��
S��� :��� 

H0: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
�
�����/��mn������0��!�1�2��0��&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����
!�������
� 
 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
�
�����/��mn������0��!�1�2��0��&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��
!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.698   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
 ! %�
���

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
%0���
�����/��mn������0��!�1�2��0��&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����
!�������
���������
� -��
S��� :��� 
 

H0: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
�����%,��!�1����0��&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
�����%,��!�1����0��&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.881   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
 ! %�
���

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
%0�������%,��!�1����0��&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
�
��������
� -��
S��� :��� 
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H0: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
 

 %����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
 

 %����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!�������
� 
���������% �5 ����k�� 7%0��� P (�
������1����) = 0.319   α (�1%
5�
� -��
S) = 0.050 
%
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 ! %�
� � �
 
 !���2 � �0 � ����
�-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0�� 

 %����&���� ��� ���
!����� 
�"
�#$���%�&�3������'� �(����!�������
���������
� -��
S��� :��� 

 
 
H0: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��

�����%��� ,�� ��&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
�����%��� ,�� ��&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.040   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P �0���
�� ��� α (�����
5 Sig) ����W�� # H0 ����
5 H1 
 ! %�
���

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
%0�������%��� ,�� ��&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!�������
� 
  

H0: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
����� �
���
�/��"�
����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
����� �
���
�/��"�
����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��!������
�
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.905   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
 ! %�
���

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
%0������� �
���
�/��"�
����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!������
�
���������
� -��
S��� :��� 
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H0: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
���mo��5��!�1"
8��5'�����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����
!�������
� 
 H1: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
���mo��5��!�1"
8��5'�����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����7��
!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.620   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
 ! %�
���

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
%0�����mo��5��!�1"
8��5'�����&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����
!�������
���������
� -��
S��� :��� 
  

H0: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
�
���0�
(�0�&� ����?�"&���� ��� ���!����� 
�"
�#$���%�&�3������'� �(����!�������
� 
 H1: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�%0��
�
���0�
(�0�&� ����?�"&���� ��� ���!����� 
�"
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�� ��� α (�����
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��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0������� �
���
�/��"�
����
!�������
� 
 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0������� �
���
�/��"�
����
7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.596   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
&������
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0������� �
���
�/��
"�
����!�������
���������
� -��
S��� :��� 
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H0: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0�����mo��5��!�1"
8��
5'�����!�������
� 
 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0�����mo��5��!�1"
8��
5'�����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.706   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
&������
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0�����mo��5��!�1
"
8��5'�����!�������
���������
� -��
S��� :��� 

 
H0: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����

��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���
���0�
(�0�&� ����?�"
!�������
� 
 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���
���0�
(�0�&� ����?�"
7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.622   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
&������
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���
���0�
(�0�&� ��
��?�"!�������
���������
� -��
S��� :��� 

 
H0: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����

��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���
�����%Q
�&�3�����
!�������
� 
 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���
�����%Q
�&�3�����7��
!�������
� 
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���������% �5 ����k�� 7%0��� P (�
������1����) = 0.512   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
&������
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���
�����%Q
�&�
3�����!�������
���������
� -��
S��� :��� 

 
H0: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����

��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���3�5��!�1!�����%0��
!����� 
�"
�#$!�������
� 
 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���3�5��!�1!�����%0��
!����� 
�"
�#$7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.081   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
&������
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���3�5��!�1!�����
%0��!����� 
�"
�#$!�������
���������
� -��
S��� :��� 

 
 H0: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&�

�����
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���
�����/��mn������0��
!�1�2��0��!�������
� 
 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���
�����/��mn������0��!�1
�2��0��7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.528   α (�1%
5�
� -��
S) = 
0.05 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�
&������
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���
�����/��mn��
����0��!�1�2��0��!�������
���������
� -��
S��� :��� 
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H0: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0�������%,��!�1����0�� !������
�
� 
 H1: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0�������%,��!�1����0�� 7��
!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.881   α (�1%
5�
� -��
S) = 
0.05 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&�
�����
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0�������%,��!�1����0�� 
!�������
���������
� -��
S��� :��� 

 
H0: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����

��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0�� 

 %����!�������
� 
 H1: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0�� 

 %����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.319   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&�
�����
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0�� 

 %����!�������
�
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� -��
S��� :��� 

  
H0: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����

��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0�������%��� ,�� ��     
!�������
� 
 H1: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0�������%��� ,�� ��              
7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.04   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P �0���
�� ��� α (�����
5 Sig) ����W�� # H0 ����
5 H1 
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! %�
���

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&�
�����
5��'�!�07/!�1"
8��!����� 
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�#$&�3������'� �(����%0�������%��� ,�� ��7��
!�������
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H0: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����

��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0������� �
���
�/��"�
����
!�������
� 
 H1: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0������� �
���
�/��"�
����
7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.905   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&�
�����
5��'�!�07/!�1"
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���
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� -��
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H0: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����

��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0�����mo��5��!�1"
8��
5'�����!�������
� 
 H1: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0�����mo��5��!�1"
8��
5'�����7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.620   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
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���

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&�
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H0: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���
���0�
(�0�&� ����?�"
!�������
� 
 H1: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���
���0�
(�0�&� ����?�"
7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.716   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
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!���2��0������-����&�3������'� �(���������/��%�����
� ���
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S��� :��� 

  
H0: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����

��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���
�����%Q
�&�3�����
!�������
� 
 H1: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���
�����%Q
�&�3�����7��
!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.923   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 
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���

!���2��0������-����&�3������'� �(���������/��%�����
� ���
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H0: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����

��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���3�5��!�1!�����%0��
!����� 
�"
�#$!�������
� 
 H1: �

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���3�5��!�1!�����%0��
!����� 
�"
�#$7��!�������
� 
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���������% �5 ����k�� 7%0��� P (�
������1����) = 0.166   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1 

! %�
���

!���2��0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&�
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� -��
S��� :��� 

  
H0: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����

��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���
�����/��mn������0��!�1
�2��0��!�������
� 
 H1: �

!������0������-����&�3������'� �(���������/��%�����
� ���
����%�(.�&����
��
5��'�!�07/!�1"
8��!����� 
�"
�#$&�3������'� �(����%0���
�����/��mn������0��!�1
�2��0��7��!�������
� 

���������% �5 ����k�� 7%0��� P (�
������1����) = 0.902   α (�1%
5�
� -��
S) = 
0.050 %
��
����� P ����
�� ��� α (�����
57�� Sig) �������
5 H0 �W�� # H1! %�
���

!������0�����
�-����&�3������'� �(���������/��%�����
� ���
����%�(.�&������
5��'�!�07/!�1"
8��
!����� 
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